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The 2008 A Level results show that 97.2% of students passed compared with
96.6% in 2007. 25.9% gained A grades, a rise of 0.6%. The number of students
sitting A Levels, 827 737, was also a record. This high success rate is causing
concerns in some quarters that the exams are getting easier. However, the
government insists that the results reflect increased spending and improvements
in teaching. Meanwhile the general secretary of the Association of Teachers and
Lecturers, Dr Mary Bousted, has berated teaching methods in schools as spoon-
feeding students to pass exams without developing the desire to continue
learning and the skills necessary to learn independently. In reply the general
secretary of the University and College Union, Sally Hunt, suggested it is unfair to
downplay the students’ results and the hard work of their teachers.

1. The improvement in A Level results is a reflection of an increase in the number
of students sitting the exams

(a) True

(b) False

(c) Cannot say
(d)

Answer: Cannot say

For Complete EBook with Detailed Solution to all the Questions Please Visit
http://www.aptitudetests4me.com/Buy_Analytical_Ability_Ebook.html



http://www.aptitudetests4me.com/Buy_Analytical_Ability_Ebook.html

Analytical Ability EBook

The improvement is given in the passage as a percentage, and it is true to say
that the numbers of test-takers has increased (indeed, to record levels).
However the passage does not tell us explicitly why the results have improved.

2. A level exams are getting easier
(@) True
(b) False

(c) Cannot say

(d)

Answer: Cannot say
Some people have expressed concerns that the exams are getting easier, but no
evidence of this notion is given in the passage.

3. The general secretary of the University and College Union said that students
are being spoon-fed to pass examinations

(@) True
(b) False

(c) Cannot say

(d)

Answer: Cannot say

This suggestion was made by the general secretary of the Association of
Teachers and Lecturers. Although the secretary of the University and College
Union (Sally Hunt) defended the results, the passage does not explicitly tell us
that Sally Hunt did or did not state students are being spoon-fed to pass
examinations (it might be implied she did not say this but it is not stated). For
example she could have said this at another time but we do not know for sure
given just the information in the passage.
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International Development Secretary, Douglas Alexander, has compared sanitary
conditions in developing countries today with the situation in London 150 years
ago when Parliament had to be closed owing to sewage running through the
streets of the capital and a stench from the River Thames — an event that has
been called ‘The Great Stink’. Today more than 1 billion people in developing
countries have no toilets and 900 million have no access to clean water. Mr.
Alexander’s response has been an announcement that the Department of
International Development plans to build more than 50 million toilets and provide
clean drinking water to more than 25 million people in developing countries over
the next five years. This plan is part of the department’s broader strategy to help
poor countries in Africa and Asia to better manage their water resources and fight
the effects of climate change.

4. ‘The Great Stink’ occurred in London
(@) True

(b) False

(c) Cannot say

(d)

Answer: True
‘The Great Stink’ occurred in London.

5. When the project to build toilets is completed, on average twenty people are
going to have to share one toilet

(a) True
(b) False

(c) Cannot say

(d)
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Answer: Cannot say
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6. The Department of International Development intends to do more than just
provide clean drinking water and toilets to Africa and Asia

(a) True

(b) False

(c) Cannot say
(d)

Answer: True

The last sentence in the passage states that “This plan is part of the
department’s broader strategy to help poor countries in Africa and Asia...”.So if
they have a strategy for a broader action, we can infer they intend to do more.

7. Here are some words translated from an artificial language.
lelibroon means yellow hat

plekafroti means flower garden

frotimix means garden salad

Which word could mean “yellow flower”?

(a) lelifroti

(b) lelipleka

(c) plekabroon

(d) frotibroon

Answer: b. Leli means yellow; broon means hat; pleka means flower; froti
means garden; mix means salad. Therefore, lelipleka means yellow flower.
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8. Here are some words translated from an artificial language.
moolokarn means blue sky

wilkospadi means bicycle race

moolowilko means blue bicycle

Which word could mean “racecar”?

(a) wilkozwet

(b) spadiwilko

(c) moolobreil

(d) spadivolo

Answer: d. From wilkospadi, you can determine that wilko means bicicyle and
spadi means race. Therefore, the first part of the word that means racecar
should begin with spadi. That limits your choices to b and d. Choice b,
spadiwilko, is incorrect because we have already determined that wilkomeans
bicycle. Therefore, the answer must be choice d, spadivolo.

9. Here are some words translated from an artificial language.

daftafoni means advisement

imodafta means misadvise

imolokti means misconduct

Which word could mean “statement”?

(a) kratafoni

(b) kratadafta

(c) loktifoni

(d) daftaimo

Answer: a. Dafta means advise; foni is the same as the suffix -ment; imo is the
same as the prefix mis—; lokti means conduct. Since the only word in the answer
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choices that hasn’t been defined is krata, it is reasonable to assume that krata
means state. Therefore, kratafoni is the only choice that could mean statement.

Answer questions 10 and 11 on the basis of the information below.

At a Halloween party where people were asked to dress as an object that
represented their professions, Quentin, Rachel, Sarah, Thomas, and Ulysses were
among the guests. The costumes included a flower, a pencil, a spoon, a camera,
and a thermometer. The professions included a photographer, a florist, a doctor,
an accountant, and a chef.

Quentin is an accountant.

Neither Rachel nor Sarah was dressed as a spoon.

None of the men is a doctor.

Thomas is dressed as a camera.

Sarah is a florist.

10. Which person is dressed as a thermometer?

(a) Quentin

(b) Rachel

(c) Sarah

(d) Thomas

Answer: b.
http://www.aptitudetestsdme.com/Buy Analytical Ability Ebook.html

11. What is Ulysses’s profession?
(a) photographer

(b) florist
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(c) doctor
(d) chef

Answer: d. Ulysses cannot be a doctor, because that is Rachel. Quentin is an
accountant, Thomas must be a photographer, and Sarah is a florist. That leaves
chef for Ulysses.We also know The chef must be a man, because neither of the
women is dressed as a spoon.

Answer questions 12 through 14 on the basis of the information below. Five
towns—Fulton, Groton, Hudson, lvy, and Jersey—which are covered by the same
newspaper, all have excellent soccer teams. The teams are named the Panthers,
the Whippets, the Antelopes, the Kangaroos, and the Gazelles. The sports
reporter, who has just started at the newspaper, has to be careful not to get them
confused. Here is what she knows:

The team in Fulton has beaten the Antelopes, Panthers, and Kangaroos.

The Whippets have beaten the teams in Jersey, Hudson, and Fulton.

The Antelopes are in Groton.

The team in Hudson is not the Kangaroos.

12. Where are the Whippets?

(a) Fulton

(b) Groton

(c) Hudson

(d) Ivy

Answer: d. The Whippets cannot be in Jersey, Hudson, or Fulton, since they
have beaten those teams. The Antelopes are in Groton, so the Whippets are in

lvy.

13. Where are the Panthers?
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(a) vy

(b) Jersey

(c) Fulton

(d) Hudson

Answer: d. The Panthers cannot be in Ivy or Groton, because the Whippets and
Antelopes are there. Fulton has beaten the Panthers, so they cannot be in Fulton.
Fulton has also beaten the Kangaroos, so the only town left for the Kangaroos is
Jersey. That leaves Hudson for the Panthers.

14. What team is in Fulton?

(a) Panthers

(b) Gazelles

(c) Whippets

(d) Kangaroos

Answer: b. Every team and town is matched up, except Fulton and the Gazelles,
so the Gazelles must be in Fulton.

15. Here are some words translated from an artificial language.
granamelke means big tree

pinimelke means little tree

melkehoon means tree house

Which word could mean “big house”?

(a) granahoon
(b) pinishur

(c) pinihoon
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(d) melkegrana

Answer: a.
http://www.aptitudetestsdme.com/Buy Analytical Ability Ebook.html

16. Here are some words translated from an artificial language.
dionot means oak tree

blyonot means oak leaf

blycrin means maple leaf

Which word could mean “maple syrup”?

(a) blymuth
(b) hupponot
(c) patricrin
(d) crinweel

Answer: c. In this language, the adjective follows the noun. From dionot and
blyonot, you can determine that onotmeans oak. From blyonot and blycrin, you
can determine that bly means leaf. Therefore, crin means maple. Because the
adjective maple comes after the noun, patricrin is the only possible choice.

Answer questions 17 through 20 on the basis of the information below.

Five cities all got more rain than usual this year. The five cities are: Last Stand,
Mile City, New Town, Olliopolis, and Polberg. The cities are located in five
different areas of the country: the mountains, the forest, the coast, the desert,
and in a valley. The rainfall amounts were: 12 inches, 27 inches, 32 inches, 44
inches, and 65 inches.

The city in the desert got the least rain; the city in the forest got the most rain.
New Town is in the mountains.

Last Stand got more rain than Olliopolis.

Mile City got more rain than Polberg, but less rain than New Town.
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Olliopolis got 44 inches of rain.

The city in the mountains got 32 inches of rain; the city on the coast got 27 inches
of rain.

17. Which city is in the desert?

(a) Last Stand

(b) Mile City

(c) New Town

(d) Polberg

Answer: d. The city that got the least rain is in the desert. New Town is in the
mountains. Last Stand got more rain than Olliopolis, so it cannot be the city with
the least rain; also,Mile City cannot be the city with the least rain. Olliopolis got
44 inches of rain. Therefore, Polberg is in the desert and got 12 inches of rain.
18. Which city got the most rain?

(a) Last Stand

(b) Mile City

(c) New Town

(d) Olliopolis

Answer: a. Olliopolis got 44 inches of rain. Last Stand got more rain than that, so
it got 65 inches, which is the most.

19. How much rain did Mile City get?
(a) 12 inches

(b) 27 inches
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(c) 32 inches

(d) 44 inches

Answer: b. Olliopolis got 44 inches of rain, Last Stand got 65, and Polberg got 12.
New Town is in the mountains, and the city in the mountains got 32 inches of
rain. Therefore, Mile City got 27.

20. Where is Olliopolis located?

(a) the mountains

(b) the coast

(c) in a valley

(d) the desert

Answer: c.
http://www.aptitudetestsdme.com/Buy Analytical Ability Ebook.html

The questions from 21-25 ask you to match definitions to particular situations. For
each question, you will be given a definition and four possible answer choices.
Read each definition and all four choices carefully, and find the answer that
provides the best example of the given definition. Answer each question solely on
the basis of the definition given.

21. Applying for Seasonal Employment occurs when a person requests to be
considered for a job that is dependent on a particular season or time of year.
Which situation below is the best example of Applying for Seasonal Employment?

(a) The ski instructors at Top of the Peak Ski School work from December through
March.

(b) Matthew prefers jobs that allow him to work outdoors.
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(c) Lucinda makes an appointment with the beach resort restaurant manager to
interview for the summer waitressing position that was advertised in the
newspaper.

(d) Doug’s ice cream shop stays open until 11 p.m. during the summer months.

Answer: c. Although the ski instructors at Top of the Peak Ski School do work
seasonally, choice a does not describe anyone applying for seasonal
employment. In choice b, the statement that Matthew likes to work outdoors
tells us nothing about seasonal employment or someone applying for it. And
although choice d describes a business with seasonal hours, it does not describe
a person applying for seasonal work. Choice c, on the other hand, very
specifically depicts a person, Lucinda, who is applying for a job as a summer
waitress at a beach resort, which is dependent upon a particular season of the
year.

22. An Informal Gathering occurs when a group of people get together in a casual,
relaxed manner. Which situation below is the best example of an Informal
Gathering?

(a) The book club meets on the first Thursday evening of every month.

(b) After finding out about his promotion, Jeremy and a few coworkers decide to
go out for a quick drink after work.

(c) Mary sends out 25 invitations for the bridal shower she is giving for her sister.
(d) Whenever she eats at the Mexican restaurant, Clara seems to run into Peter.
Answer: b. After getting some good news, Jeremy and a few friends casually get
together for a drink after work, thereby having an informal gathering. Choices a

and c describe more formal types of gatherings. Choice d describes a chance or
coincidental kind of meeting.
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23. The rules of baseball state that a batter Legally Completes His Time at Bat
when he is put out or becomes a base runner. Which situation below is the best
example of a batter Legally Completing His Time at Bat?

(a) Jared’s blooper over the head of the shortstop puts him in scoring position.
(b) The umpire calls a strike, even though the last pitch was way outside.

(c) The pitcher throws his famous knuckleball, Joe swings and misses, and the
umpire calls a strike.

(d) The count is two balls and two strikes as Mario waits for the next pitch.

Answer: a. The fact that Jared is in scoring position due to his blooper indicates
that he has hit the ball and is now a base runner; therefore, he has legally
completed his time at bat. Choices b and c both describe situations in which a
strike is called, but they do not state that the batter has been put out or that he
is now a base runner. Choice d describes a situation in which the batter, Mario,
is still at the plate waiting for the next pitch.

24. In the Maple Hill school district, a Five-Day Suspension occurs when a student
is not permitted to attend school for five days for (1) physically assaulting another
student, a teacher, or a school employee or (2) willfully destructing or defacing
school property. Which situation below is the best example of a Five-Day
Suspension?

(a) Lillian gets caught cheating on a math test for the second time and is
suspended from school.

(b) Marc is asked to leave the classroom due to his constant disruptions.

(c) Franny uses spray paint to write derogatory comments on the locker room wall
and she is given a suspension.

(d) Ms. Farmer tells her class that students who fail the midterm exam will be
expected to stay after school for tutoring help.
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Answer: c. Although choices a and ¢ both describe suspensions, only choice ¢
describes a suspension that is the result of one of the two scenarios given in the
definition of a five-day suspension (physical assault or destructing or defacing
school property). Therefore, we can assume that Franny’s suspension, which is
the result of spray painting school property, will be a five day suspension. Since
the definition doesn’t provide any information about suspensions for cheating,
we can assume that Lillian’s suspension does not fall into the five-day
suspension category.

25. A Tiebreaker is an additional contest or period of play designed to establish a
winner among tied contestants. Which situation below is the best example of a
Tiebreaker?

(a) At halftime, the score is tied at 28.

(b) Mary and Megan have each scored three goals in the game.

(c) The referee tosses a coin to decide which team will have possession of the ball
first.

(d) The Sharks and the Bears each finished with 14 points, and they are now
battling it out in a five-minute overtime.

Answer: d
http://www.aptitudetestsdme.com/Buy Analytical Ability Ebook.html

Each of the following questions from 26 to 31 contain a short paragraph, and each
paragraph presents an argument. Your task is to read the paragraph carefully and
determine the main point the author is trying to make. What conclusion can be
drawn from the argument? Each paragraph is followed by five statements.One
statement supports the author’s argument better than the others do. The best
way to approach these questions is to first read the paragraph and then restate
the author’s main argument, or conclusion, in your own words.

26. If you're a fitness walker, there is no need for a commute to a health club.
Your neighborhood can be your health club. You don’t need a lot of fancy
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equipment to get a good workout either. All you need is a well-designed pair of
athletic shoes.

This paragraph best supports the statement that

(a) fitness walking is a better form of exercise than weight lifting

(b) a membership in a health club is a poor investment

(c) walking outdoors provides a better workout than walking indoors
(d) fitness walking is a convenient and valuable form of exercise

Answer:
http://www.aptitudetestsdme.com/Buy Analytical Ability Ebook.html

27. It is well known that the world urgently needs adequate distribution of food,
so that everyone gets enough. Adequate distribution of medicine is just as urgent.
Medical expertise and medical supplies need to be redistributed throughout the
world so that people in emerging nations will have proper medical care.

This paragraph best supports the statement that

(a) the majority of the people in the world have never been seen by a doctor

(b) food production in emerging nations has slowed during the past several years

(c) most of the world’s doctors are selfish about giving time and money to the
poor

(d) many people who live in emerging nations are not receiving proper medical
care

Answer:
http://www.aptitudetestsdme.com/Buy Analytical Ability Ebook.html
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28. The criminal justice system needs to change. The system could be more just if
it allowed victims the opportunity to confront the person who has harmed them.
Also, mediation between victims and their offenders would give the offenders a
chance to apologize for the harm they have done.

This paragraph best supports the statement that victims of a crime should

(a) learn to forgive their offenders

(b) have the right to confront their offenders

(c) learn the art of mediation

(d) insist that their offenders be punished

Answer:
http://www.aptitudetestsdme.com/Buy Analytical Ability Ebook.html

29. In the past, consumers would rarely walk into an ice cream store and order
low-fat ice cream. But that isn’t the case today. An increasing health
consciousness combined with a much bigger selection of tasty low-fat foods in all
categories has made low-fat ice cream a very profitable item for ice cream store
owners.

This paragraph best supports the statement that

(a) low-fat ice cream produces more revenue than other low-fat foods

(b) ice cream store owners would be better off carrying only low-fat ice cream

(c) ice cream store owners no longer think that low-fat ice cream is an unpopular
item

(d) low-fat ice cream is more popular than other kinds of ice cream

Answer:
http://www.aptitudetestsdme.com/Buy Analytical Ability Ebook.html
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30. A few states in this country are considering legislation that would prohibit
schools from using calculators before the sixth grade. Other states take a different
position. Some states are insisting on the purchase of graphing calculators for
every student in middle school.

This paragraph best supports the statement that in this country

(a) there are at least two opinions about the use of calculators in schools

(b) calculators are frequently a detriment to learning math

(c) state legislators are more involved in education than ever before

(d) the price of graphing calculators is less when schools buy in bulk

Answer:
http://www.aptitudetestsdme.com/Buy Analytical Ability Ebook.html

31. One of the warmest winters on record has put consumers in the mood to
spend money. Spending is likely to be the strongest in thirteen years. During the
month of February, sales of existing single-family homes hit an annual record rate
of 4.75 million.

This paragraph best supports the statement that

(a) consumer spending will be higher thirteen years from now than it is today

(b) more people buy houses in the month of February than in any other month

(c) during the winter months, the prices of single-family homes are the |

(d) warm winter weather is likely to affect the rate of home sales

Answer:
http://www.aptitudetestsdme.com/Buy Analytical Ability Ebook.html
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32. Here are some words translated from an artificial language.
agnoscrenia means poisonous spider

delanocrenia means poisonous snake

agnosdeery means brown spider

Which word could mean “black widow spider”?

(a) deeryclostagnos

(b) agnosdelano

(c) agnosvitriblunin

(d) trymuttiagnos

Answer:
http://www.aptitudetestsdme.com/Buy Analytical Ability Ebook.html

33. Here are some words translated from an artificial language.
myncabel means saddle horse

conowir means trail ride

cabelalma means horse blanket

Which word could mean “horse ride”?

(a) cabelwir

(b) conocabel

(c) almamyn

(d) conoalma

Answer:
http://www.aptitudetestsdme.com/Buy Analytical Ability Ebook.html

34. Here are some words translated from an artificial language.
godabim means kidney stones
romzbim means kidney beans
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romzbako means wax beans
Which word could mean “wax statue”?

(a) godaromz
(b) lazbim

(c) wasibako

(d) romzpeo

Answer:
http://www.aptitudetestsdme.com/Buy Analytical Ability Ebook.html

35. Here are some words translated from an artificial language.
tamceno means sky blue

cenorax means blue cheese

aplmitl means star bright

Which word could mean “bright sky”?

(a) cenotam

(b) mitltam

(c) raxmitl

(d) aplceno

Answer:
http://www.aptitudetestsdme.com/Buy Analytical Ability Ebook.html

36. Here are some words translated from an artificial language.
gorblflur means fan belt

pixngorbl means ceiling fan

arthtusl means tile roof

Which word could mean “ceiling tile”?
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(a) gorbltusl
(b) flurgorbl
(c) arthflur

(d) pixnarth

Answer:
http://www.aptitudetestsdme.com/Buy Analytical Ability Ebook.html

The logic problems 37 - 41 present you with three true statements: Fact 1, Fact 2,
and Fact 3. Then, you are given three more statements (labeled |, II, and lll), and
you must determine which of these, if any, is also a fact. One or two of the
statements could be true; all of the statements could be true; or none of the
statements could be true. Choose your answer based solely on the information
given in the first three facts.

37. Fact 1: Islands are surrounded by water.

Fact 2: Maui is an island.

Fact 3: Maui was formed by a volcano.

If the first three statements are facts, which of the following statements must also
be a fact?

I. Maui is surrounded by water.

II. All islands are formed by volcanoes.

[ll. All volcanoes are on islands.

(a) lonly

(b) Il only

(c) land Il only

(d) None of the statements is a known fact

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html
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38. Fact 1: All drink mixes are beverages.
Fact 2: All beverages are drinkable.
Fact 3: Some beverages are red.
If the first three statements are facts, which of the following statements must also
be a fact?
|. Some drink mixes are red.
Il. All beverages are drink mixes.
[Il. All red drink mixes are drinkable.

(a) lonly

(b) Il only

(c) l'and I

(d) None of the statements is a known fact

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

39. Fact 1: Eyeglass frames cost between $35 and $350.

Fact 2: Some eyeglass frames are made of titanium.

Fact 3: Some eyeglass frames are made of plastic.

If the first three statements are facts, which of the following statements must also
be a fact?

|. Titanium eyeglass frames cost more than plastic frames.

Il. Expensive eyeglass frames last longer than cheap frames.

I1l. Only a few eyeglass frames cost less than $35.

(a) lonly

(b) 'and Il only

(c) Iland Il only

(d) None of the statements is a known fact

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html
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40. Fact 1: Some pens don’t write.

Fact 2: All blue pens write.

Fact 3: Some writing utensils are pens.

If the first three statements are facts, which of the following statements must also
be a fact?

I. Some writing utensils don’t write.

Il. Some writing utensils are blue.

lll. Some blue writing utensils don’t write.

(a) lonly

(b) Iand Il only

(c) Iland Il only

(d) None of the statements is a known fact

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

41. Fact 1: Mary said, “Ann and | both have cats.”

Fact 2: Ann said, “l don’t have a cat.”

Fact 3: Mary always tells the truth, but Ann sometimes lies.

If the first three statements are facts, which of the following statements must also
be a fact?

l. Ann has a cat.

Il. Mary has a cat.

[ll. Ann is lying.

(a) Il only
(b) 'and Il only
()1, 11, and Il

(d) None of the statements is a known fact
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Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

42. Nurse Kemp has worked more night shifts in a row than Nurse Rogers, who
has worked five. Nurse Miller has worked fifteen night shifts in a row, more than
Nurses Kemp and Rogers combined. Nurse Calvin has worked eight night shifts in
a row, less than Nurse Kemp. How many night shifts in a row has Nurse Kemp
worked?

(a) eight

(b) nine

(c) ten

(d) eleven

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

43. Four friends in the sixth grade were sharing a pizza. They decided that the
oldest friend would get the extra piece. Randy is two months older than Greg,
who is three months younger than Ned. Kent is one month older than Greg. Who
should get the extra piece of pizza?

(a) Randy

(b) Greg

(c) Ned

(d) Kent

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

44. A four-person crew from Classic Colors is painting Mr. Field’s house. Michael is
painting the front of the house. Ross is in the alley behind the house painting the
back. Jed is painting the window frames on the north side, Shawn is on the south.
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If Michael switches places with Jed, and Jed then switches places with Shawn,
where is Shawn?

(a) in the alley behind the house
(b) on the north side of the house
(c) in front of the house

(d) on the south side of the house

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

45. In a four-day period—Monday through Thursday—each of the following
temporary office workers worked only one day, each a different day. Ms. Johnson
was scheduled to work on Monday, but she traded with Mr. Carter, who was
originally scheduled to work on Wednesday. Ms. Falk traded with Mr. Kirk, who
was originally scheduled to work on Thursday. After all the switching was done,
who worked on Tuesday?

(a) Mr. Carter
(b) Ms. Falk

(c) Ms. Johnson
(d) Mr. Kirk

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

46. The high school math department needs to appoint a new chairperson, which
will be based on seniority. Ms. West has less seniority than Mr. Temple, but more
than Ms. Brody. Mr. Rhodes has more seniority than Ms. West, but less than Mr.
Temple. Mr. Temple doesn’t want the job. Who will be the new math department
chairperson?

(a) Mr. Rhodes
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(b) Mr. Temple
(c) Ms.West
(d) Ms. Brody

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

47. Four people witnessed a mugging. Each gave a different description of the
mugger. Which description is probably right?

(a) He was average height, thin, and middle-aged.
(b) He was tall, thin, and middle-aged.

(c) He was tall, thin, and young.

(d) He was tall, of average weight, and middle-aged.

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

48. As they prepare for the state championships, one gymnast must be moved
from the Level 2 team to the Level 1 team. The coaches will move the gymnast
who has won the biggest prize and who has the most experience. In the last
competition, Roberta won a bronze medal and has competed seven times before.
Jamie has won a silver medal and has competed fewer times than Roberta. Beth
has won a higher medal than Jamie and has competed more times than Roberta.
Michele has won a bronze medal, and it is her third time competing. Who will be
moved to the Level 1 team?

(a) Roberta
(b) Beth

(c) Michele
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(d) Jamie

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

49. Four defensive football players are chasing the opposing wide receiver, who
has the ball. Calvin is directly behind the ball carrier. Jenkins and Burton are side
by side behind Calvin. Zeller is behind Jenkins and Burton. Calvin tries for the
tackle but misses and falls. Burton trips. Which defensive player tackles the
receiver?

(a) Burton

(b) Zeller

(c) Jenkins

(d) Calvin

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

50. Fact 1: All hats have brims.

Fact 2: There are black hats and blue hats.

Fact 3: Baseball caps are hats.

If the first three statements are facts, which of the following statements must also
be a fact?

l. All caps have brims.

Il. Some baseball caps are blue.

lll. Baseball caps have no brims.

(a) lonly
(b) Il only
()1, 11, and Il

(d) None of the statements is a known fact
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Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

51. Fact 1: All chickens are birds.

Fact 2: Some chickens are hens.

Fact 3: Female birds lay eggs.

If the first three statements are facts, which of the following statements must also
be a fact?

l. All birds lay eggs.

Il. Hens are birds.

lll. Some chickens are not hens.

(a) lonly
(b) Iand Il only
(c) 1, 11, and IlI

(d) None of the statements is a known fact

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

52. Fact 1: Most stuffed toys are stuffed with beans.

Fact 2: There are stuffed bears and stuffed tigers.

Fact 3: Some chairs are stuffed with beans.

If the first three statements are facts, which of the following statements must also
be a fact?

I. Only children’s chairs are stuffed with beans.

II. All stuffed tigers are stuffed with beans.

[ll. Stuffed monkeys are not stuffed with beans.

(a) lonly
(b) Il only

(c) Iland Il only
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(d) None of the statements is a known fact

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

53. Fact 1: Pictures can tell a story.

Fact 2: All storybooks have pictures.

Fact 3: Some storybooks have words.

If the first three statements are facts, which of the following statements must also
be a fact?

l. Pictures can tell a story better than words can.

Il. The stories in storybooks are very simple.

lll. Some storybooks have both words and pictures.

(a) lonly
(b) Il only
(c) lll only

(d) None of the statements is a known fact

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

54. Fact 1: Robert has four vehicles.

Fact 2: Two of the vehicles are red.

Fact 3: One of the vehicles is a minivan.

If the first three statements are facts, which of the following statements must also
be a fact?

|. Robert has a red minivan.

Il. Robert has three cars.

[ll. Robert’s favorite color is red.

(a) lonly
(b) Il only

(c) Iland Il only
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(d) None of the statements is a known fact

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

55. Fact 1: Jessica has four children.

Fact 2: Two of the children have blue eyes and two of the children have brown
eyes.

Fact 3: Half of the children are girls.

If the first three statements are facts, which of the following statements must also
be a fact?

l. At least one girl has blue eyes.

Il. Two of the children are boys.

lll. The boys have brown eyes.

(a) lonly

(b) 'and Il only

(c) Iland Il only

(d) None of the statements is a known fact

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

56. Here are some words translated from an artificial language.
hapllesh means cloudburst

srenchoch means pinball

resbosrench means ninepin

Which word could mean “cloud nine”?

(a) leshsrench
(b) ochhapl

(c) haploch
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(d) haplresbo

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

57. Here are some words translated from an artificial language.
migenlasan means cupboard

lasanpoen means boardwalk

cuopdansa means pullman

Which word could mean “walkway”?

(a) poenmigen

(b) cuopeisel

(c) lasandansa

(d) poenforc

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

58. Here are some words translated from an artificial language.
morpirquat means birdhouse

beelmorpir means bluebird

beelclak means bluebell

Which word could mean “houseguest”?

(@) morpirhunde

(b) beelmoki

(c) quathunde

(d) clakquat

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

59. Here are some words translated from an artificial language.
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slar means jump

slary means jumping

slarend means jumped

Which word could mean “playing”?
(a) clargslarend

(b) clargy

(c) ellaclarg

(d) slarmont

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

60. Here are some words translated from an artificial language.
briftamint means militant

uftonel means occupied

uftonalene means occupation

Which word could mean “occupant”?

(a) elbrifta

(b) uftonamint

(c) elamint

(d) briftalene

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

The logic problems 61 - 62 present you with three true statements: Fact 1, Fact 2,
and Fact 3. Then, you are given three more statements (labeled |, II, and lll), and
you must determine which of these, if any, is also a fact. One or two of the
statements could be true; all of the statements could be true; or none of the
statements could be true. Choose your answer based solely on the information
given in the first three facts.
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61. Fact 1: All dogs like to run.

Fact 2: Some dogs like to swim.

Fact 3: Some dogs look like their masters.

If the first three statements are facts, which of the following statements must also
be a fact?

I. All dogs who like to swim look like their masters.

Il. Dogs who like to swim also like to run.

l1l. Dogs who like to run do not look like their masters.

(a) lonly

(b) Il only

(c) Iland Il only

(d) None of the statements is a known fact

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

62. Children are in pursuit of a dog whose leash has broken. James is directly
behind the dog. Ruby is behind James. Rachel is behind Ruby. Max is ahead of the
dog walking down the street in the opposite direction. As the children and dog
pass, Max turns around and joins the pursuit. He runs in behind Ruby. James runs
faster and is alongside the dog on the left. Ruby runs faster and is alongside the
dog on the right. Which child is directly behind the dog?

(a) James
(b) Ruby
(c) Rachel
(d) Max

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html
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63. Here are some words translated from an artificial language.
krekinblaf means workforce

dritakrekin means groundwork

krekinalti means workplace

Which word could mean “someplace”?

(a) moropalti

(b) krekindrita

(c) altiblaf

(d) dritaalti

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

64. Here are some words translated from an artificial language. plekapaki means
fruitcake

pakishillen means cakewalk

treftalan means buttercup

Which word could mean “cupcake”?

(a) shillenalan

(b) treftpleka

(c) pakitreft

(d) alanpaki

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

65. Here are some words translated from an artificial language.
peslligen means basketball court

ligenstrisi means courtroom

oltaganti means placement test

Which word could mean “guest room”?
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(a) peslstrisi
(b) vosefstrisi
(c) gantipesl
(d) oltastrisi

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

66. Danielle has been visiting friends in Ridgewood for the past two weeks. She is
leaving tomorrow morning and her flight is very early. Most of her friends live
fairly close to the airport. Madison lives ten miles away. Frances lives five miles
away, Samantha, seven miles. Alexis is farther away than Frances, but closer than
Samantha. Approximately how far away from the airport is Alexis?

(a) nine miles

(b) seven miles

(c) eight miles

(d) six miles

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

67. Ms. Forest likes to let her students choose who their partners will be;
however, no pair of students may work together more than seven class periods in
a row. Adam and Baxter have studied together seven class periods in a row.
Carter and Dennis have worked together three class periods in a row. Carter does
not want to work with Adam. Who should be assigned to work with Baxter?

(a) Carter

(b) Adam
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(c) Dennis
(d) Forest

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

68. At the baseball game, Henry was sitting in seat 253. Marla was sitting to the
right of Henry in seat 254. In the seat to the left of Henry was George. Inez was
sitting to the left of George. Which seat is Inez sitting in?

(a) 251

(b) 254

(c) 255

(d) 256

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

The following questionsinvolve analytical reasoning—better known as “logic
games”. These games give the most trouble to students who haven’t defined a
specific method for solving these problems. The best way to attack logic games is
to have a plan.When solving the problems in this set, try the following strategy:

1. Know the rules of the logic game and what each rule means.

2. Draw up an easy-to-reference diagram that includes all of the game’s
information.

3. Look for common elements in the rules; you can combine these to make
deductions.

4. Read the questions carefully; be sure you know what is being asked before you
try to answer the question.

Answer questions 69 through 71 on the basis of the information below. The
government of an island nation is in the process of deciding how to spend its
limited income. It has $7 million left in its budget and eight programs to choose
among. There is no provision in the constitution to have a surplus, and each
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program has requested the minimum amount they need; in other words, no
program may be partially funded. The programs and their funding requests are:

Hurricane preparedness: $2.5 million

Harbor improvements: $1 million

School music program: S0.5 million

Senate office building remodeling: $1.5 million
Agricultural subsidy program: $2 million
National radio: $0.5 million

Small business loan program: $3 million
International airport: $4 million

69. If the legislature decides to fund the agricultural subsidy program, national
radio, and the small business loan program, the only other single program that
can be funded is

(a) hurricane preparedness

(b) harbor improvements

(c) school music program

(d) senate office building remodeling

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

70. If the legislature decides to fund the agricultural subsidy program, national
radio, and the small business loan program, what two other programs could they
fund?

(a) harbor improvements and international airport

(b) harbor improvements and school music program

(c) hurricane preparedness and school music program

(d) hurricane preparedness and international airport

For Complete EBook with Detailed Solution to all the Questions Please Visit
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71. Senators from urban areas are very concerned about assuring that there will
be funding for a new international airport. Senators from rural areas refuse to
fund anything until money for agricultural subsidies is appropriated. If the
legislature funds these two programs, on which of the following could they spend
the rest of the money?

(a) the school music program and national radio

(b) hurricane preparedness

(c) harbor improvements and the school music program

(d) small business loan program

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

Answer questions 72 through 73 on the basis of the information below.

A weekly television show routinely stars six actors, J, K, LM, N, and O. Since the
show has been on the air for a long time, some of the actors are good friends and
some do not get along at all. In an effort to keep peace, the director sees to it that
friends work together and enemies do not. Also, as the actors have become more
popular, some of them need time off to do other projects. To keep the schedule
working, the director has a few things she must be aware of:

J will only work on episodes on which M is working.

N will not work with K under any circumstances.

M can only work every other week, in order to be free to film a movie

At least three of the actors must appear in every weekly episode.

72.In a show about L getting a job at the same company J already works for and K
used to work for, all three actors will appear. Which of the following is true about

the other actors who may appear?

(a) M, N, and O must all appear
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(b) M may appear and N must appear
(c) M must appear and O may appear
(d) O may appear and N may appear

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

73. Next week, the show involves N’s new car and O’s new refrigerator. Which of
the following is true about the other actors who may appear?

(@) M, J, L, and K all may appear
(b) J, L, and K must appear

(c) Only K may appear

(d) Only L may appear

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

Some logical reasoning questions ask you to determine the method the speaker is
using when he or she presents the argument.Method-of-argument questions ask
you to demonstrate an understanding of how a speaker’s argument is put
together. To determine the method of argument, again focus on the conclusion
and on the evidence presented.What method does the speaker use to link the
two?

Answer question 74 on the basis of the information below.

| know that our rules prohibit members from bringing more than one guest at a
time to the club, but | think there should be an exception to the rule on Tuesdays,
Wednesdays, and Thursdays. Members should be allowed to bring multiple guests
on those days, since the majority of members use the club facilities on the other
four days of the week.
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74. The rules restricting the number of guests a member can bring to the club
probably are intended to

(a) assure that members are not crowded by the presence of guests
(b) provide extra income for the club on slow days

(c) allow members to bring guests to the club for special events

(d) restrict guests to public areas of the club

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

Answer questions 75 on the basis of the information below.
A recent study on professional football players showed that this new ointment
helps relieve joint pain. My mother has arthritis, and | told her she should try it,

but she says it probably won’t help her.

75. What argument should the mother use to point out why the ointment
probably will not help her arthritis?

(a) The ointment was just experimental

(b) The ointment is expensive

(c) Football players’ joint pain is not the result of arthritis

(d) She has already tried another ointment and it didn’t work

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

76. Here are some words translated from an artificial language.
mallonpiml means blue light

mallontifl means blueberry

arpantifl means raspberry

Which word could mean “lighthouse”?
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(a) tiflmallon
(b) pimlarpan
(c) mallonarpan
(d) pimldoken

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

77. Here are some words translated from an artificial language.
gemolinea means fair warning

gerimitu means report card

gilageri means weather report

Which word could mean “fair weather?”

(a) gemogila

(b) gerigeme

(c) gemomitu

(d) gerimita

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

78. Here are some words translated from an artificial language.
aptaose means first base

eptaose means second base

lartabuk means ballpark

Which word could mean “baseball”?

(a) buklarta

(b) oseepta

For Complete EBook with Detailed Solution to all the Questions Please Visit
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(c) bukose
(d) oselarta

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

79. Here are some words translated from an artificial language.
relftaga means carefree

otaga means careful

fertaga means careless

Which word could mean “aftercare”?

(a) zentaga

(b) tagafer

(c) tagazen

(d) relffer

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

80. Here are some words translated from an artificial language.
malgauper means peach cobbler

malgaport means peach juice

moggagrop means apple jelly

Which word could mean “apple juice”?

(a) moggaport

(b) malgaauper

(c) gropport

(d) moggagrop

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html
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The questions from 81-85 ask you to match definitions to particular situations. For
each question, you will be given a definition and four possible answer choices.
Read each definition and all four choices carefully, and find the answer that
provides the best example of the given definition. Answer each question solely on
the basis of the definition given.

81. Dr. Miller has a busy pediatric dentistry practice and she needs a skilled,
reliable hygienist to keep things running smoothly. The last two people she hired
were recommended by top dentists in the area, but they each lasted less than
one month. She is now in desperate need of a hygienist who can competently
handle the specific challenges of her practice. Which one of the following
candidates should Dr. Miller consider most seriously?

(a) Marilyn has been a hygienist for fifteen years, and her current employer, who
is about to retire, says she is the best in the business. The clientele she has
worked with consists of some of the wealthiest and most powerful citizens in the
county.

(b) Lindy recently graduated at the top of her class from one of the best dental
hygiene programs in the state. Prior to becoming a dental hygienist, Lindy spent
two years working in a day care center.

(c) James has worked as a dental hygienist for three years in a public health clinic.
He is very interested in securing a position in a private dental office.

(d) Kathy is an experienced and highly recommended dental hygienist who is also
finishing up a degree in early childhood education, which she hopes will get her a
job as a preschool teacher. She is eager to find a job in a pediatric practice, since
she has always wanted to work with children.

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

82. Mrs. Jansen recently moved to Arizona. She wants to fill her new backyard
with flowering plants. Although she is an experienced gardener, she isn’t very
well-versed in what plants will do well in the Arizona climate. Also, there is a big
tree in her backyard making for shady conditions and she isn’t sure what plants
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will thrive without much direct sunlight. Her favorite gardening catalog offers
several backyard seed packages. Which one should Mrs. Jansen choose?

(a) The Rainbow Collection is ideal for Northeast gardens. It includes a variety of
colorful perennials that thrive in cool, moist conditions.

(b) The Greenhouse Collection will blossom year after year if planted in brightly lit
locations and watered regularly.

(c) The Treehouse Collection will provide lush green plants with delicate colorful
flowers that thrive in shady and partially shady locations.

(d) The Oasis Collection includes a variety of perennials that thrive in dry climates
and bright sunlight.

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

83. Eileen is planning a special birthday dinner for her husband’s 35th birthday.
She wants the evening to be memorable, but her husband is a simple man who
would rather be in jeans at a baseball game than in a suit at a fancy restaurant.
Which restaurant below should Eileen choose?

(a) Alfredo’s offers fine Italian cuisine and an elegant Tuscan décor. Patrons will
feel as though they’ve spent the evening in a luxurious Italian villa.

(b) Pancho’s Mexican Buffet is an all-you-caneat family style smorgasbord with
the best tacos in town.

(c) The Parisian Bistro is a four-star French restaurant where guests are treated
like royalty. Chef Dilbert Olay is famous for his beef bourguignon.

(d) Marty’s serves delicious, hearty meals in a charming setting reminiscent of a
baseball clubhouse in honor of the owner,Marty Lester, a former major league

baseball allstar.

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html
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84. Mark is working with a realtor to find a location for the toy store he plans to
open in his town. He is looking for a place that is either in, or not too far from, the
center of town and one that would attract the right kind of foot traffic. Which of
the following locations should Mark’s realtor call to his attention?

(a) a storefront in a new high-rise building near the train station in the center of
town whose occupants are mainly young, childless professionals who use the

train to commute to their offices each day

(b) a little shop three blocks away from the town’s main street, located across the
street from an elementary school and next door to an ice cream store

(c) a stand-alone storefront on a quiet residential street ten blocks away from the
town’s center

(d) a storefront in a small strip mall located on the outskirts of town that is also
occupied by a pharmacy and a dry cleaner

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

85. Rita, an accomplished pastry chef who is well known for her artistic and
exquisite wedding cakes, opened a bakery one year ago and is surprised that
business has been so slow. A consultant she hired to conduct market research has
reported that the local population doesn’t think of her shop as one they would
visit on a daily basis but rather a place they’d visit if they were celebrating a
special occasion. Which of the following strategies should Rita employ to increase
her daily business?

(a) making coupons available that entitle the coupon holder to receive a 25%
discount on wedding, anniversary, or birthday cakes

(b) exhibiting at the next Bridal Expo and having pieces of one of her wedding
cakes available for tasting

(c) placing a series of ads in the local newspaper that advertise the wide array of
breads, muffins, and cookies offered at her shop

For Complete EBook with Detailed Solution to all the Questions Please Visit
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(d) moving the bakery to the other side of town

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

86. Here are some words translated from an artificial language.
jalkamofti means happy birthday

moftihoze means birthday party

mentogunn means goodness

Which word could mean “happiness”?

(a) jalkagunn

(b) mentohoze

(c) moftihoze

(d) hozemento

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

The questions from 87-90 ask you to match definitions to particular situations. For
each question, you will be given a definition and four possible answer choices.
Read each definition and all four choices carefully, and find the answer that
provides the best example of the given definition. Answer each question solely on
the basis of the definition given.

87. Establishing a Power of Attorney occurs when a legal document is created that
gives one individual the authority to act for another. Which situation below is the
best example of Establishing a Power of Attorney?

(a) Louise is selling her house and she hires a lawyer to review the contract.

(b) Simone’s mother can no longer get to the bank to cash her checks and make
deposits, so she has taken legal steps to enable Simone to do these things for her.

(c) Jack’s father is elderly and Jack thinks he is no longer able to make decisions
for himself.
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(d) At her daughter’s urging,Mrs. Lenox opens up a retirement account with the
local bank.

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

88. Erratic Behavior occurs when an individual acts in a manner that lacks
consistency, regularity, and uniformity. Which situation below is the best example
of Erratic Behavior?

(@) Julia cannot contain her anger whenever the subject of local politics is
discussed.

(b) Martin has just been told that he is being laid off. Before leaving his
supervisor’s office, he punches a hole in the door.

(c) Rhonda has visited the dealership several times, but she still cannot decide
which car to buy.

(d) In the past month, Jeffrey, who has been a model employee for three years,
has repeatedly called in sick, forgotten important meetings, and been verbally

abusive to colleagues.

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

89. Posthumous Publication occurs when a book is published after the author’s
death. Which situation below is the best example of Posthumous Publication?

(a) Richard’s illness took his life before he was able to enjoy the amazing early
reviews of his novel.

(b) Melissa’s publisher cancels her book contract after she fails to deliver the
manuscript on time.

(c) Clarence never thought he’d live to see the third book in his trilogy published.
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(d) Elizabeth is honored with a prestigious literary award for her writing career
and her daughter accepts the award on behalf of her deceased mother.

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

90. The school principal has received complaints from parents about bullying in
the school yard during recess. He wants to investigate and end this situation as
soon as possible, so he has asked the recess aides to watch closely. Which
situation should the recess aides report to the principal?

(a) A girl is sitting glumly on a bench reading a book and not interacting with her
peers.

(b) Four girls are surrounding another girl and seem to have possession of her
backpack.

(c) Two boys are playing a one-on-one game of basketball and are arguing over
the last basket scored.

(d) Three boys are huddled over a handheld video game

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

91. Mrs. Carson took a taxi to meet her three friends for lunch. They were waiting
for her outside the restaurant when she pulled up in the car. She was so excited
to see her friends that she left her tote bag in the taxi. As the taxi pulled away,
she and her friends took notice of the license plate number so they would be able
to identify the car when they called the taxi company. The four license plate
numbers below represent what each of the four women thinks she saw.Which
one is most likely the license plate number of the taxi?

(a) JXK 12L
(b) JYK 12L

(c) IXK 121

For Complete EBook with Detailed Solution to all the Questions Please Visit
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(d) IXX 12L

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

92. Zachary has invited his three buddies over to watch the basketball game on
his wide-screen television. They are all hungry, but no one wants to leave to get
food. Just as they are arguing about who should make the food run, a commercial
comes on for a local pizzeria that delivers. The phone number flashes on the
screen briefly and they all try to remember it. By the time Zachary grabs a pen
and paper, each of them recollects a different number. Which of the numbers is
most likely the telephone number of the pizzeria?

(a) 995-9266
(b) 995-9336
(c) 995-9268
(d) 995-8266

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

93. Today’s workforce has a new set of social values. Ten years ago, a manager
who was offered a promotion in a distant city would not have questioned the
move. Today, a manager in that same situation might choose family happiness
instead of career advancement.

This paragraph best supports the statement that

(a) most managers are not loyal to the corporations for which they work

(b) businesses today do not understand their employees’ needs

(c) employees’ social values have changed over the past ten years

(d) career advancement is not important to today’s business managers

For Complete EBook with Detailed Solution to all the Questions Please Visit
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Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

94. Generation Xers are those people born roughly between 1965 and 1981. As
employees, Generation Xers tend to be more challenged when they can carry out
tasks independently. This makes Generation Xers the most entrepreneurial
generation in history.

This paragraph best supports the statement that Generation Xers

(a) work harder than people from other generations

(b) have a tendency to be self-directed workers

(c) have an interest in making history

(d) tend to work in jobs that require risk-taking behavior

Answer: b.
http://www.aptitudetestsdme.com/Buy Analytical Ability Ebook.html

95. Today’s high school students spend too much time thinking about trivial and
distracting matters such as fashion. Additionally, they often dress inappropriately
on school grounds. Rather than spending time writing another detailed dress
policy, we should make school uniforms mandatory. If students were required to
wear uniforms, it would increase a sense of community and harmony in our
schools and it would instill a sense of discipline in our students. Another positive
effect would be that teachers and administrators would no longer have to act as
clothing police, freeing them up to focus on more important issues.

This paragraph best supports the statement that
(a) inappropriate clothing leads to failing grades
(b) students who wear school uniforms get into better colleges

(c) teachers and administrators spend at least 25% of their time enforcing the
dress
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(d) school uniforms should be compulsory for high school students

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

96. Critical reading is a demanding process. To read critically, you must slow down
your reading and, with pencil in hand, perform specific operations on the text.
Mark up the text with your reactions, conclusions, and questions. When you read,
become an active participant.

This paragraph best supports the statement that

(a) critical reading is a slow, dull, but essential process

(b) the best critical reading happens at critical times in a person’s life

(c) readers should get in the habit of questioning the truth of what they read

(d) critical reading requires thoughtful and careful attention

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

97. There are no effective boundaries when it comes to pollutants. Studies have
shown that toxic insecticides that have been banned in many countries are riding
the wind from countries where they remain legal. Compounds such as DDT and
toxaphene have been found in remote places like the Yukon and other Arctic
regions.

This paragraph best supports the statement that
(a) toxic insecticides such as DDT have not been banned throughout the world

(b) more pollutants find their way into polar climates than they do into warmer
areas

(c) studies have proven that many countries have ignored their own antipollution
laws

For Complete EBook with Detailed Solution to all the Questions Please Visit
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(d) DDT and toxaphene are the two most toxic insecticides in the world

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

98. The Fourth Amendment to the Constitution protects citizens against
unreasonable searches and seizures. No search of a person’s home or personal
effects may be conducted without a written search warrant issued on probable
cause. This means that a neutral judge must approve the factual basis justifying a
search before it can be conducted.

This paragraph best supports the statement that the police cannot search a
person’s home or private papers unless they have

(a) legal authorization

(b) direct evidence of a crime

(c) read the person his or her constitutional rights
(d) a reasonable belief that a crime has occurred

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

99. During colonial times in America, juries were encouraged to ask questions of
the parties in the courtroom. The jurors were, in fact, expected to investigate the
facts of the case themselves. If jurors conducted an investigation today, we would
throw out the case.

This paragraph best supports the statement that

(a) juries are less important today than they were in colonial times

(b) jurors today are less interested in court cases than they were in colonial times

(c) courtrooms today are more efficient than they were in colonial times

For Complete EBook with Detailed Solution to all the Questions Please Visit
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(d) the jury system in America has changed since colonial times

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

100. Mathematics allows us to expand our consciousness. Mathematics tells us
about economic trends, patterns of disease, and the growth of populations. Math
is good at exposing the truth, but it can also perpetuate misunderstandings and
untruths. Figures have the power to mislead people. This paragraph best supports
the statement

(a) the study of mathematics is dangerous

(b) words are more truthful than figures

(c) the study of mathematics is more important than other disciplines

(d) figures are sometimes used to deceive people

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

101. Human technology developed from the first stone tools about two and a half
million years ago. At the beginning, the rate of development was slow. Hundreds
of thousands of years passed without much change. Today, new technologies are
reported daily on television and in newspapers.

This paragraph best supports the statement that

(a) stone tools were not really technology

(b) stone tools were in use for two and a half million years

(c) there is no way to know when stone tools first came into use

(d) In today’s world, new technologies are constantly being developed

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html
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102. Obesity is a serious problem in this country. Research suggests that obesity
can lead to a number of health problems including diabetes, asthma, and heart
disease. Recent research has even indicated that there may be a relationship
between obesity and some types of cancer. Major public health campaigns that
increase awareness and propose simple lifestyle changes that will, with diligence
and desire, eliminate or least mitigate the incidence of obesity are a crucial first
step in battling this critical problem.

This paragraph best supports the statement that

(a) public health campaigns that raise consciousness and propose lifestyle
changes are a productive way to fight obesity

(b) obesity is the leading cause of diabetes in our country
(c) people in our country watch too much television and do not exercise enough
(d) a decline in obesity would radically decrease the incidence of asthma

Answer: http://www.aptitudetests4me.com/Buy Analytical Ability Ebook.html

103. In the 1966 Supreme Court decision Miranda v. Arizona, the court held that
before the police can obtain statements from a person subjected to an
interrogation, the person must be given a Miranda warning. This warning means
that a person must be told that he or she has the right to remain silent during the
police interrogation. Violation of this right means that any statement that the
person makes is not admissible in a court hearing.

This paragraph best supports the statement that
(a) police who do not warn persons of their Miranda rights are guilty of a crime
(b) a Miranda warning must be given before a police interrogation can begin

(c) the police may no longer interrogate persons suspected of a crime unless a
lawyer is present

For Complete EBook with Detailed Solution to all the Questions Please Visit
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(d) the 1966 Supreme Court decision in Miranda should be reversed
Answer:

For Complete EBook with Detailed Solution to all the Questions Please Visit:
http://www.aptitudetestsdme.com/Buy Analytical Ability Ebook.html

104. Walk into any supermarket or pharmacy and you will find several shelves of
products designed to protect adults and children from the sun. Additionally, a
host of public health campaigns have been created, including National Skin
Cancer Awareness Month, that warn us about the sun’s damaging UV rays and
provide guidelines about protecting ourselves. While warnings about the sun’s
dangers are frequent, a recent survey found that fewer than half of all adults
adequately protect themselves from the sun.

This paragraph best supports the statement that
(a) children are better protected from the sun’s dangerous rays than adults
(b) sales of sun protection products are at an all-time high

(c) adults are not heeding the warnings about the dangers of sun exposure
seriously enough

(d) more adults have skin cancer now than ever before

Answer:

105. Yoga has become a very popular type of exercise, but it may not be for
everyone. Before you sign yourself up for a yoga class, you need to examine what
it is you want from your fitness routine. If you’re looking for a high-energy, fast-
paced aerobic workout, a yoga class might not be your best choice.

This paragraph best supports the statement that

(a) yoga is more popular than high-impact aerobics

For Complete EBook with Detailed Solution to all the Questions Please Visit
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(b) before embarking on a new exercise regimen, you should think about your
needs and desires

(c) yoga is changing the world of fitness in major ways

(d) yoga benefits your body and mind

Answer:

106. For too long, school cafeterias, in an effort to provide food they thought
would be appetizing to young people, mimicked fast-food restaurants, serving
items such as burgers and fries, pizza, hot dogs, and fried chicken. School districts
nationwide are now addressing this trend by incorporating some simple and
inexpensive options that will make cafeteria lunches healthier while still appealing
to students.

This paragraph best supports the statement that

(a) school cafeterias have always emphasized nutritional guidelines over any
other considerations

(b) young people would rather eat in a school cafeteria than a local fast-food
restaurant

(c) school lunch menus are becoming healthier due to major new initiatives on
the part of school districts

(d) it is possible to make school lunches both healthier and appealing without
spending a great deal of money and undertaking a radical transformation

Answer:
107. During the last six years, the number of practicing physicians has increased

by about 20%. During the same time period, the number of healthcare managers
has increased by more than 600%. These percentages mean that many doctors
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have lost the authority to make their own schedules, determine the fees that they
charge, and decide on prescribed treatments.

This paragraph best supports the statement that doctors

(a) resent the interference of healthcare managers

(b) no longer have adequate training

(c) care a great deal about their patients

(d) are less independent than they used to be

Answer:

Answer questions 108 and 109 on the basis of the information below.

English ought to be the official language of the United States. There is no reason
for the government to spend money printing documents in several different
languages, just to cater to people who cannot speak English. The government has
better ways to spend our money. People who come to this country should learn

to speak English right away.

108. Which of the following, if true, would make the speaker’s argument
stronger?

(@) There is currently a law that says the government must provide people with
documents in their native language

(b) Most people in the United States who do not speak English were born here
(c) Immigration rates have decreased in recent years
(d) Many other countries have an official language

Answer:
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109. Which of the following, if true, would make the speaker’s argument weaker?

(a) The government currently translates official documents into more than twenty
languages

(b) English is the most difficult language in the world to learn

(c) Most people who immigrate to the United States learn English within two
years of their arrival

(d) Making English the official language is a politically unpopular idea

Answer:

Answer questions 110 through 112 on the basis of the information below.

Some groups want to outlaw burning the flag. They say that people have fought
and died for the flag and that citizens of the United States ought to respect that.
But | say that respect cannot be legislated. Also, most citizens who have served in
the military did not fight for the flag, they fought for what the flag represents.
Among the things the flag represents is freedom of speech, which includes, |
believe, the right for a citizen to express displeasure with the government by
burning the flag in protest.

110. Which of the following best expresses the main point of the passage?

(a) Only veterans care about the flag-burning issue

(b) Flag burning almost never happens, so outlawing it is a waste of time

(c) Flag burning will be a very important issue in the next election

(d) To outlaw flag burning is to outlaw what the flag represents

Answer:

111. Which of the following, if true, would weaken the speaker’s argument?
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(a) An action is not considered a part of freedom of speech

(b) People who burn the flag usually commit other crimes as well

(c) The flag was not recognized by the government until 1812

(d) State flags are almost never burned

Answer:

112. Which of the following is similar to the argument made by the speaker?

(@) The rich should not be allowed to “buy” politicians, so the Congress should
enact campaign finance reform

(b) The idea of freedom of religion also means the right not to participate in
religion, so mandated school prayer violates freedom of religion

(c) The Constitution guarantees freedom to own property, so taxes should be
illegal

(d) Convicted felons should not have their convictions overturned on a
technicality

Answer:
Answer questions 113 and 114 on the basis of the information below.
The six top songs (not in order) of 1968 were:

“People Got to Be Free” by The Rascals

“Sittin’ on the Dock of the Bay” by Otis Redding
“Honey” by Bobby Goldsboro

“Sunshine of Your Love” by Cream

“Love Is Blue” by Paul Mauriat & His Orchestra
“Hey Jude” by The Beatles
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Here are some rules about the order of the songs:

The Beatles and Cream do not appear next to each other on the list.
The number 1 song is not “Love Is Blue.”

The songs by individual artists are numbers 3 and 4.

The Rascals appear right before Cream and right after Otis Redding.
113. Which of the following is true?

(a) Song #3 is “Honey” by Bobby Goldsboro

(b) Song #6 is “Hey Jude” by the Beatles

(c) Song #1 is “Sittin’ on the Dock of the Bay” by Otis Redding

(d) Song #1 is “Sunshine of Your Love” by Cream

Answer:

114. Which of the following is the correct order of songs?

(a) “Honey,” “Love Is Blue,” “People Got to Be Free,” “Sunshine of Your Love,”
“Sittin’ on the Dock of the Bay,” “Hey Jude”

(b) “Love Is Blue,” “Hey Jude,” “Honey,” “Sittin’ on the Dock of the Bay,” “People
Got to Be Free,” “Sunshine of Your Love”

(c) “Sunshine of Your Love,” “People Got to Be Free,” “Sittin’ on the Dock of the
Bay,” “Honey,” “Love Is Blue,” “Hey Jude”

(d) “Hey Jude,” “Love Is Blue,” “Honey,” “Sittin’ on the Dock of the Bay,” “People
Got to Be Free,” “Sunshine of Your Love”

Answer:

Answer question 115 solely on the basis of the following information.
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When a new employee is hired at the law firm, a human resources representative
should take the following steps on the employee’s first day of work.

1. Greet the employee in the reception area and offer him coffee or tea.

2. Take the employee back to the human resources office and have him complete
a general information questionnaire, a healthcare insurance form, and a tax form.
3. Take a photograph of the employee for his identification card.

4. Issue the employee a temporary identification card.

5. Walk the employee to the department in which he will be working and
introduce him to his colleagues.

6. Bring the employee to his office or cubicle.

115. It is Kate Milford’s first day of work as a paralegal at the law firm of Jasper,
Jenkins & Mead. Taylor Franklin, the human resources manager, greets Kate in
the reception area and gets her a cup of tea as they walk back to the human
resources office. Taylor asks Kate to sit at a table and fill out three forms.While
Kate completes the forms, Taylor checks her messages and asks her secretary to
confirm a meeting she has for later that morning. Taylor then takes a photograph
of Kate that will be used on her company identification card. As Taylor walks Kate
over to the paralegal department, she tells her that the identification card should
be ready in a couple of days. Taylor introduces Kate to her new colleagues, who
all greet her quite warmly, and then shows her to her new cubicle, jots down her
phone extension, and says that Kate should call her if she has any questions at all.
Taylor Franklin’s actions were

(a) proper, because she is the human resources manager and knows how to greet
a new employee.

(b) improper, because she did not spend enough time making sure that Kate was
comfortable.

(c) proper, because she told Kate that she should feel free to call her if she had
guestions.

(d) improper, because she did not issue a temporary identification card.

Answer:
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Answer question 116 solely on the basis of the following information.

When a client comes in looking for a new home, the real estate agency requires
its realtors to follow some specific guidelines during the first meeting. The realtor
is expected to do the following.

1. Be sure the client is comfortably seated and has been offered a drink.

2. Get background information on the client’s current living circumstances.

3. Ask the client what qualities she is looking for in a house.

4. Discuss the price range that the client has in mind and determine whether or
not she has been preapproved for a mortgage.

5. With the computer screen facing the client, browse the current house listings
and print out information for any of the houses that the client would like to see in
person.

6. Ask the client if she is available to look at some of the houses immediately, and
if not, make an appointment to show her the houses as soon as possible.

116. Marcus and Cynthia Howard arrive at Smithfield Realty for their appointment
with realtor Patricia Russo. Ms. Russo leads the couple to a comfortable sofa in
her office and gets them both a cup of coffee. Ms. Russo asks Marcus and Cynthia
what kind of house they are looking for and it becomes clear that they have very
particular ideas. Most importantly, they are looking for a house that is in walking
distance of the train station. They also want a newer house, preferably one built
after 1970.

They must have four bedrooms and central air conditioning. A finished basement
would be a welcome bonus.Ms. Russo discusses price range with her new clients,
and before the discussion is finished, they hand her a letter from their mortgage
company that indicates that they have been preapproved for a mortgage.
Together, the three of them browse the listings on Ms. Russo’s computer screen
and information is printed out for four houses that the couple would like to
see.Ms. Russo determines that Marcus and Cynthia are free for another few
hours, so the three of them head to her car to begin looking at potential new
homes. Based on the company guidelines, the actions taken by Ms. Russo were

(a) improper, because she was only able to find four houses that Marcus and
Cynthia wanted to see
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(b) proper, because she obtained all the necessary information from the clients.

(c) improper, because she failed to get any details about the client’s current living
circumstances.

(d) proper, because she didn’t try to persuade the clients to consider houses that
didn’t meet all of their criteria.

Answer:

117. The film director wants an actress for the lead role of Lucy who perfectly fits
the description that appears in the original screenplay. He is not willing to
consider actresses who do not resemble the character as she is described in the
screenplay, no matter how talented they are. The screenplay describes Lucy as an
average-sized, fortysomething redhead, with deep brown eyes, very fair skin, and
a brilliant smile. The casting agent has four actresses in mind.

Actress #1 is a stunning red-haired beauty who is 5'9" and in her mid-twenties.
Her eyes are brown and she has an olive complexion.

Actress #2 has red hair, big brown eyes, and a fair complexion. She is in her mid-
forties and is 5'5".

Actress #3 is 5'4" and of medium build. She has red hair, brown eyes, and is in her
early forties.

Actress #4 is a blue-eyed redhead in her early thirties. She’s of very slight build
and stands at 5'.

Which two actresses should the casting agent send to meet the director?
(@) 1,2
(b) 2,3

(c)1,4
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(d) 2,4
Answer:

118. The neighborhood block association has received many complaints about
people knocking on doors and soliciting money for an unknown charity
organization even though door-to-door solicitation is prohibited by local laws.
Three residents have provided descriptions of individuals who have come to their
door asking for money.

Solicitor #1 is a white male, 20-25 years old, 5'9", 145 pounds, with very short
brown hair. He was wearing a dark blue suit and carrying a brown leather

briefcase.

Solicitor #2 is a white male, 25-30 years old, 6'2", 200 pounds, with a shaved-
head. He was wearing a red T-shirt and jeans.

Solicitor #3 is a white male, approximately 23 years old, 5'10", slight build, with
short brown hair. He was wearing a blue suit.

Three days after the block association meeting, a resident noticed a man knocking
on doors in the neighborhood and phoned the police to report the illegal activity.

This solicitor was described as follows:

Solicitor #4 is a white male, 22 years old, 140 pounds, about 5'10", with short
brown hair. He was carrying a briefcase and wearing a dark suit.

Based on this description, which of the three solicitations was also likely carried
out by Solicitor #4?

(a) #1, #2, and #3
(b) #1, but not #2 and #3

(c) #1 and #3, but not #2
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(d) #1 and #2, but not #3
Answer:

For questions 119 through 124, find the statement that must be true according to
the given information.

119. Erin is twelve years old. For three years, she has been asking her parents for
a dog. Her parents have told her that they believe a dog would not be happy in an
apartment, but they have given her permission to have a bird. Erin has not yet
decided what kind of bird she would like to have.

(a) Erin’s parents like birds better than they like dogs.

(b) Erin does not like birds.

(c) Erin and her parents live in an apartment.

(d) Erin and her parents would like to move.

Answer:

120. Last summer, Mike spent two weeks at a summer camp. There, he went
hiking, swimming, and canoeing. This summer, Mike looks forward to attending a
two-week music camp, where he hopes to sing, dance, and learn to play the
guitar.

(a) Mike’s parents want him to learn to play the guitar.

(b) Mike prefers music to outdoor activities.

(c) Mike goes to some type of camp every summer.

(d) Mike likes to sing and dance.

Answer:
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121. The Pacific yew is an evergreen tree that grows in the Pacific Northwest. The
Pacific yew has a fleshy, poisonous fruit. Recently, taxol, a substance found in the
bark of the Pacific yew, was discovered to be a promising new anticancer drug.

(a) Taxol is poisonous when taken by healthy people.

(b) Taxol has cured people from various diseases.

(c) People should not eat the fruit of the Pacific yew.

(d) The Pacific yew was considered worthless until taxol was discovered.

Answer:

122. On weekends, Mr. Sanchez spends many hours working in his vegetable and
flower gardens. Mrs. Sanchez spends her free time reading and listening to
classical music. Both Mr. Sanchez and Mrs. Sanchez like to cook.

(a) Mr. Sanchez enjoys planting and growing vegetables.

(b) Mr. Sanchez does not like classical music.

(c) Mrs. Sanchez cooks the vegetables that Mr. Sanchez grows.

(d) Mrs. Sanchez enjoys reading nineteenth century novels.

Answer:

123. Tim’s commute never bothered him because there were always seats
available on the train and he was able to spend his 40 minutes comfortably
reading the newspaper or catching up on paperwork. Ever since the train
schedule changed, the train has been extremely crowded, and by the time the
doors open at his station, there isn’t a seat to be found.

(a) Tim would be better off taking the bus to work.

(b) Tim’s commute is less comfortable since the train schedule changed.
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(c) Many commuters will complain about the new train schedule.

(d) Tim will likely look for a new job closer to home.

Answer:

124. When they heard news of the hurricane, Maya and Julian decided to change
their vacation plans. Instead of traveling to the island beach resort, they booked a
room at a fancy new spa in the mountains. Their plans were a bit more expensive,
but they’d heard wonderful things about the spa and they were relieved to find
availability on such short notice.

(a) Maya and Julian take beach vacations every year.

(b) The spa is overpriced.

(c) It is usually necessary to book at least six months in advance at the spa.

(d) Maya and lJulian decided to change their vacation plans because of the
hurricane.

Answer:

For questions 125 through 129, find the statement that must be true according to
the given information.

125. Seahorse populations have declined everywhere that seahorses are fished.
During the past five years, seahorse populations have decreased by 50%. Last
year, biologists met to discuss what might be done to reverse this trend.

(a) Seahorses are likely to become extinct within five years.

(b) One way to increase seahorse populations is to ban the fishing of seahorses.

(c) Biologists from all over the world are working to save the seahorses.
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(d) Seahorse fishermen have spoken out against the biologists.

Answer:

126. Vincent has a paper route. Each morning, he delivers 37 newspapers to
customers in his neighborhood. It takes Vincent 50 minutes to deliver all the
papers. If Vincent is sick or has other plans, his friend Thomas, who lives on the
same street, will sometimes deliver the papers for him.

(a) Vincent and Thomas live in the same neighborhood.

(b) It takes Thomas more than 50 minutes to deliver the papers.

(c) It is dark outside when Vincent begins his deliveries.

(d) Thomas would like to have his own paper route.

Answer:

127. Georgia is older than her cousin Marsha. Marsha’s brother Bart is older than
Georgia. When Marsha and Bart are visiting with Georgia, all three like to play a
game of Monopoly. Marsha wins more often than Georgia does.

(a) When he plays Monopoly with Marsha and Georgia, Bart often loses.

(b) Of the three, Georgia is the oldest.

(c) Georgia hates to lose at Monopoly.

(d) Of the three,Marsha is the youngest.

Answer:

128. Ten new television shows appeared during the month of September. Five of
the shows were sitcoms, three were hour-long dramas, and two were news-

magazine shows. By January, only seven of these new shows were still on the air.
Five of the shows that remained were sitcoms.
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(a) Only one of the news-magazine shows remained on the air.

(b) Only one of the hour-long dramas remained on the air.

(c) At least one of the shows that was cancelled was an hour-long drama.

(d) Television viewers prefer sitcoms over hour-long dramas.

Answer:

129. Sara lives in a large city on the East Coast. Her younger cousin Marlee lives in
the Midwest in a small town with fewer than 1,000 residents. Marlee has visited
Sara several times during the past five years. In the same period of time, Sara has
visited Marlee only once.

(a) Marlee likes Sara better than Sara likes Marlee.

(b) Sara thinks small towns are boring.

(c) Sara is older than Marlee.

(d) Marlee wants to move to the East Coast.

Answer:

130. By the time they reach adulthood, most people can perform many different
activities involving motor skills. Motor skills involve such diverse tasks as riding a
bicycle, threading a needle, and cooking a dinner. What all these activities have in
common is their dependence on precision and timing of muscular movement.
This paragraph best supports the statement that

(@) most adults have not refined their motor skills

(b) all adults know how to ride a bicycle
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(c) refined motor skills are specifically limited to adults

(d) threading a needle is a precise motor skill

Answer:

131. Close-up images of Mars by the Mariner 9 probe indicated networks of
valleys that looked like the stream beds on Earth. These images also implied that
Mars once had an atmosphere that was thick enough to trap the sun’s heat. If this
were true, something happened to Mars billions of years ago that stripped away
the planet’s atmosphere. This paragraph best supports the statement that

(a) Mars now has little or no atmosphere

(b) Mars once had a thicker atmosphere than Earth does

(c) the Mariner 9 probe took the first pictures of Mars

(d) Mars is closer to the sun than Earth is

Answer:

132. Forest fires feed on decades-long accumulations of debris and leap from the
tops of young trees into the branches of mature trees. Fires that jump from
treetop to treetop can be devastating. In old-growth forests, however, the shade
of mature trees keeps thickets of small trees from sprouting, and the lower
branches of mature trees are too high to catch the flames.

This paragraph best supports the statement that

(a) forest fire damage is reduced in old-growth forests

(b) small trees should be cut down to prevent forest fires

(c) mature trees should be thinned out to prevent forest fires

(d) forest fires do the most damage in old growth forests
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Answer:

133. Originating in the 1920s, the Pyramid scheme is one of the oldest con games
going. Honest people are often pulled in, thinking the scheme is a legitimate
investment enterprise. The first customer to “fall for” the Pyramid scheme will
actually make big money and will therefore persuade friends and relatives to join
also. The chain then continues with the con artist who originated the scheme
pocketing, rather than investing, the money. Finally, the pyramid collapses, but by
that time, the scam artist will usually have moved out of town, leaving no
forwarding address.

This paragraph best supports the statement that

(a) it is fairly easy to spot a Pyramid scheme in the making

(b) the first customer of a Pyramid scheme is the most gullible

(c) the people who set up Pyramid schemes are able to fool honest people

(d) the Pyramid scheme had its heyday in the 1920s, but it's making a comeback
Answer:

134. Most Reality TV centers on two common motivators: fame and money. The
shows transform waitresses, hairdressers, investment bankers, counselors, and
teachers, to name a few, from obscure figures to household names. A lucky few
successfully parlay their fifteen minutes of fame into celebrity. The luckiest stars
of Reality TV also reap huge financial rewards for acts including eating large
insects, marrying someone they barely know, and revealing their innermost
thoughts to millions of people.

This paragraph best supports the statement that

(a) the stars of Reality TV are interested in being rich and famous
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(b) Reality TV is the best thing that has happened to network television in a long
time

(c) for Reality TV stars, fame will last only as long as their particular television
show

(d) traditional dramas and sitcoms are being replaced by Reality TV programming
at an alarming rate

Answer:
Answer questions 135 through 137 on the basis of the information below.

Henri delivers flowers for a local florist. One lovely day, he left the windows open
on the delivery van and the cards all blew off the bouquets. He has to figure out
who gets which flowers. He has five bouquets, each of which has only one kind of
flower: daisies, roses, carnations, iris, and gladioli.He has five cards with names on
them: a birthday card for Inez, a congratulations-onyour- promotion card for
Jenny, a graduation card for Kevin, an anniversary card for Liz, and a
housewarming card for Michael. Here’s what Henri knows:

Roses are Jenny’s favorite flower and what her friends always send.
Gladioli are traditionally sent for a housewarming.

Kevin is allergic to daisies and iris.

Liz is allergic to daisies and roses.

Neither Liz nor Inez has moved recently.

135. Which flowers should be delivered to Kevin?

(a) carnations

(b) iris

(c) gladioli

(d) daisies
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Answer:

136. Who should get the housewarming gladioli?

(a) Jenny

(b) Kevin

(c) Liz

(d) Michael

Answer:

137. Which flowers should be delivered to Liz?

(a) gladioli

(b) daisies

(c) roses

(d) iris

Answer:

Answer questions 138 through 141 on the basis of the information below.

Eleanor is in charge of seating the speakers at a table. In addition to the
moderator, there will be a pilot, a writer, an attorney, and an explorer. The
speakers’ names are Gary, Heloise, Jarrod, Kate, and Lane.

The moderator must sit in the middle, in seat #3.

The attorney cannot sit next to the explorer.

Lane is the pilot.

The writer and the attorney sit on either side of the moderator.
Heloise, who is not the moderator, sits between Kate and Jarrod.
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The moderator does not sit next to Jarrod or Lane.
Gary, who is the attorney, sits in seat #4.

138. Who is the moderator?
(a) Lane

(b) Gary

(c) Heloise

(d) Kate

Answer:

139. Where does Jarrod sit?
(a) seat #1

(b) seat #2

(c) seat #3

(d) seat #4

Answer:

140. What occupation does Jarrod hold?
(a) a moderator

(b) a pilot

(c) a writer

(d) an explorer

For Complete EBook with Detailed Solution to all the Questions Please Visit
http://lwww.aptitudetests4me.com/Buy_Analytical_Ability_Ebook.html

74



75
Analytical Ability EBook

Answer:

141. Who is the writer?

(a) Gary

(b) Heloise

(c) Jarrod

(d) Kate

Answer:

Answer question 142 on the basis of the information below.

Zinnia has a small container garden on her balcony. Each spring, she only has
room to plant three vegetables. Because five vegetables are her favorites, she has
worked out a schedule to plant each at least once every two years. The
vegetables are: beans, cabbage, carrots, peppers, and tomatoes.

Tomatoes are her favorites and she plants them every year.

Each year, she plants only one vegetable that begins with the letter “C.”

She never plants carrots and peppers in the same year.

She will plant cabbage in the second year.

142. In what order does she plant the vegetables in the next two years?

(a) first year: tomatoes, carrots, cabbage second year: tomatoes, peppers, beans
(b) first year: tomatoes, peppers, beans second year: cabbage, carrots, tomatoes
(c) first year: tomatoes, carrots, peppers second year: tomatoes, cabbage, beans

(d) first year: tomatoes, carrots, beans second year: tomatoes, cabbage, peppers

Answer:
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Answer questions 143 through 147 on the basis of the information below.

Five roommates—Randy, Sally, Terry, Uma, and Vernon—each do one
housekeeping task— mopping, sweeping, laundry, vacuuming, or dusting—one
day a week, Monday through Friday.

Vernon does not vacuum and does not do his task on Tuesday.

Sally does the dusting, and does not do it on Monday or Friday.

The mopping is done on Thursday.

Terry does his task, which is not vacuuming, on Wednesday.

The laundry is done on Friday, and not by Uma.

Randy does his task on Monday.

143. When does Sally do the dusting?

(a) Friday

(b) Monday

(c) Tuesday

(d) Wednesday

Answer:

144. What task does Terry do on Wednesday?

(a) vacuuming

(b) dusting

(c) mopping

(d) sweeping

Answer:
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145. What day is the vacuuming done?

(a) Friday

(b) Monday

(c) Tuesday

(d) Wednesday

Answer:

146. What task does Vernon do?
(a) vacuuming

(b) dusting

(c) mopping

(d) laundry

Answer:

147. What day does Uma do her task?
(a) Monday

(b) Tuesday

(c) Wednesday

(d) Thursday

Answer:
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Answer questions 148 through 150 on the basis of the information below.

Evan is a waiter in a café. After he turns in orders for the six people sitting at the
counter—each of whom is eating alone and is sitting in chairs numbered 1
through 6—the cook opens a window in the kitchen and the order slips get
messed up. Here’s what Evan remembers about the orders:

The entree orders are: fried eggs, a hamburger, a cheeseburger, a vegetable
burger, soup, and a ham sandwich.

The two people who did not order sandwiches are sitting at chairs 3 and 4.

The person who ordered the cheeseburger and the one who ordered the
hamburger are not sitting next to each other.

The person in chair number 5 is a regular. She will not sit next to anyone who is
eating ham.

The person eating the vegetable burger is not sitting in chair 2, but is sitting
between the person who ordered fried eggs and the one who ordered a
cheeseburger.

The customer who ordered the hamburger is not sitting next to the customer who
ordered soup.

148. To which customer should Evan serve the vegetable burger?
(a) the customer in chair 2

(b) the customer in chair 3

(c) the customer in chair 4

(d) the customer in chair 5

Answer:

149. To which customer should Evan serve the soup?

(a) the customer in chair 1
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(b) the customer in chair 2

(c) the customer in chair 3

(d) the customer in chair 4

Answer:

150. To which customer should Evan serve the ham sandwich?
(a) the customer in chair 1

(b) the customer in chair 2

(c) the customer in chair 4

(d) the customer in chair 5

Answer:

Use the additional information below, along with the information before question
148, to answer questions 151 and 152.

Now Evan has to decide who gets which side dish. Here is what he remembers, in
addition to the previous information, about the orders, which were: cole slaw,
hash browns, onion rings, potato salad, french fries, and lettuce salad.

The person who ordered soup did not order french fries, hash browns, onion
rings, or a lettuce salad.

The person who ordered onion rings is sitting in chair 6.

The person who ordered potato salad is sitting between the person who ordered
cole slaw and the one who ordered hash browns.

The person who ordered a vegetable burger ordered a lettuce salad.

The hash browns were ordered by the customer who ordered fried eggs.

151. With which entrée does the potato salad belong?
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(a) soup

(b) hamburger

(c) cheeseburger

(d) fried eggs

Answer:

152. With which entrée do the french fries belong?

(a) soup

(b) cheeseburger

(c) hamburger

(d) fried eggs

Answer:

The questions from 153 to 158 contain short logic problems. Each problem
consists of three statements. Based on the first two statements, the third
statement may be true, false, or uncertain. Logic problems may appear daunting
at first. However, solving these problems can be done in the most straightforward
way. Simply translate the abstract relationships in the questions into real-world
relationships, so you can see the facts more clearly. For example, if the problem is
comparing the ages of three people, make a chart and list the names of the
people and their possible ages according to the information given. Or, create a
diagram using symbols to represent phrases like “older than” or “greater than.”
153. Tanya is older than Eric.

Cliff is older than Tanya.

Eric is older than CIliff.
If the first two statements are true, the third statement is
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(a) true

(b) false

(c) uncertain

(d)

Answer:

154. During the past year, Josh saw more movies than Stephen.
Stephen saw fewer movies than Darren.

Darren saw more movies than Josh.

If the first two statements are true, the third statement is

(a) true

(b) false

(c) uncertain

(d)

Answer:

155. All the offices on the 9th floor have wall-towall carpeting.
No wall-to-wall carpeting is pink.

None of the offices on the 9th floor has pink wall-to-wall carpeting.
If the first two statements are true, the third statement is

(a) true

(b) false

(c) uncertain

(d)
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Answer:

156. Class A has a higher enrollment than Class B.

Class C has a lower enrollment than Class B.

Class A has a lower enrollment than Class C.

If the first two statements are true, the third statement is

(a) true
(b) false

(c) uncertain

(d)
Answer:

157. Rover weighs less than Fido.

Rover weighs more than Boomer.

Of the three dogs, Boomer weighs the least.

If the first two statements are true, the third statement is

(a) true
(b) false

(c) uncertain

(d)
Answer:

158. All the trees in the park are flowering trees.

Some of the trees in the park are dogwoods.

All dogwoods are flowering trees.

If the first two statements are true, the third statement is
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(a) true
(b) false

(c) uncertain

(d)
Answer:

The logic problems 159 - 161 present you with three true statements: Fact 1, Fact
2, and Fact 3. Then, you are given three more statements (labeled |, Il, and Ill),
and you must determine which of these, if any, is also a fact. One or two of the
statements could be true; all of the statements could be true; or none of the
statements could be true. Choose your answer based solely on the information
given in the first three facts.

Answer questions 159 through 161 on the basis of the information below.

A cinema complex with six movie theaters never shows the same movie in more
than one theater. None of the theaters is the same size as any other, with number
1 being the largest and going in order to number 6, the smallest. The theater also
has the following rules:

It will never show more than two R-rated movies at once.

It will always show at least one G-rated movie and one PG-rated movie in the two
middlesized theaters (theaters 3 and 4).

It will never show more than one foreign film at a time and never in the biggest
theater.

The starting times of movies will be staggered by fifteen minutes and will always
be on the quarter hour.

Employees need twenty minutes between showings to clean the theaters.

The cinema has the following films to choose from this particular week:

Shout, rated R

Que Pasa, a Spanish film rated PG
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Abra Cadabra, rated G
Lessons, rated R

Jealousy, rated PG

Mist, a Swedish film rated R
Trek, rated NC-17

Fly, rated G

159. Which one of the following is an acceptable listing of films to show this
week?

(a) Shout,Mist, Trek, Que Pasa, Fly, and Jealousy

(b) Shout,Mist, Trek, Fly, Jealousy, and Abra Cadabra

(c) Que Pasa, Lessons,Mist, Shout, Abra Cadabra, and Trek

(d) Shout, Lessons,Mist, Trek, Fly, and Jealousy

Answer:

160. If Shout starts at 8:30, Mist at 8:15, Trek at 8:00, Fly at 7:45, Jealousy at 7:30,
and Abra Cadabra at 7:15, and each movie is exactly two hours long, at what time
will the next showing of Trek start?

(a) 10:00

(b) 10:15

(c) 10:30

(d) 10:45

Answer:

161. The movies this week are showing in the following theaters:

Theater 1: Shout
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Theater 2: Trek

Theater 3: Abra Cadabra

Theater 4: Jealousy

Theater 5: Fly

Theater 6: Mist

Shout is doing the most business, followed by Trek and, to the management’s
surprise, Mist. The management wants to move Mist to a larger theater. Which
theater is the most logical?

(a) theater 1

(b) theater 2

(c) theater 3

(d) theater 5

Answer:

162. One New York publisher has estimated that 50,000 to 60,000 people in the
United States want an anthology that includes the complete works of William
Shakespeare. And what accounts for this renewed interest in Shakespeare? As
scholars point out, his psychological insights into both male and female characters
are amazing even today.

This paragraph best supports the statement that

(a) Shakespeare’s characters are more interesting than fictional characters today
(b) people today are interested in Shakespeare’s work because of the characters
(c) academic scholars are putting together an anthology of Shakespeare’s work

(d) New Yorkers have a renewed interested in the work of Shakespeare

Answer:
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163. The image of a knitter as an older woman sitting in a comfortable, old-
fashioned living room with a basket of yarn at her feet and a bun in her hair is one
of the past. As knitting continues to become more popular and increasingly
trendy, it is much more difficult to describe the average knitter. Knitters today
might be 18, 28, 40, or 65. They might live in a big urban center and take classes
in a knitting shop that doubles as a café or they may gather in suburban coffee
shops to support one another in knitting and other aspects of life. They could be
college roommates knitting in their dorm room or two senior citizens knitting in a
church hall. Even men are getting in the act. It would be incredibly difficult to
come up with an accurate profile of a contemporary knitter to replace that image
of the old woman with the basket of yarn!

This paragraph best supports the statement that
(a) people are returning to knitting in an attempt to reconnect with simpler times
(b) knitting is now more of a group activity, as opposed to an individual hobby

(c) creating an accurate profile of a particular type of person depends on the
people in this group having traits and characteristics in common

(d) today’s knitters are much less accomplished than knitters of the pasttoday’s
knitters are much less accomplished than knitters of the past

Answer:

A typical logical reasoning question presents an argument and asks you to
analyze it. You may be asked to draw further conclusions from the argument,
determine what strengthens or weakens the argument, find flaws in the
argument, or justify the argument. Success with these types of questions
depends on your being able to understand the structure of the argument.
Remember that every argument has a point of view. Every argument draws a
conclusion and is generally supported with evidence. Study each passage to
determine how each sentence contributes to the argument the speaker is trying
to make. Then make sure you understand the question that is being asked
before you choose from the five answer options.
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Answer questions 164 and 165 on the basis of the information below.

According to last week’s newspaper, doctors in large cities make more money
than doctors in small towns or rural areas. It does not seem fair that just because
a doctor’s office is in a fancy building or at a fancy address, he or she can charge
the patients more. Of course, some medical schools cost more than others, but
basically all doctors spend a lot of money and a long time in school. There’s no
proof that graduates of the more expensive schools practice in big cities and
graduates of the less expensive schools practice in small towns. All doctors should
charge the same. Whether a patient goes to a doctor in a big city or small town,
the cost should be the same.

164. A person seeking to refute the argument might argue that

(a) all doctors charge too much money and should lower their fees

(b) medical practices are more expensive to maintain in large cities than in small
towns and rural areas

(c) doctors who owe student loans should charge more than other doctors

(d) medical care from small-town doctors is better than medical care from large-
city doctors

Answer:

165. A major flaw in the argument is that the speaker assumes that
(a) all doctors are specialists

(b) all patients carry health insurance

(c) all doctors have huge student loans

(d) all doctors see the same number of patients
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Answer:

166. Since the 1950s, jets have steadily replaced smaller propeller planes as the
preferred method of transportation within the island nation of Kawaii. Jets are
quieter and more comfortable for passengers, and can fly faster and higher. The
fuel efficiency of jets has steadily improved as much as 70% since the 1950s, and
travel at cruising altitude is especially efficient, as motion relies mainly on
aerodynamics. However, turboprop planes are now enjoying a resurgence in
Kawaii, replacing jets for short trips between the islands.

Which of the following, if true, most helps to explain why turboprop planes are
enjoying a resurgence in Kawaii?

(a) Because trips within Kawaii are relatively short, planes spend little time at
cruising altitude.

(b) As jets have become more popular, their increased price has erased the
financial advantages of their fuel efficiency.

(c) Turboprop planes have also enjoyed a resurgence in other island nations,
especially those with extreme climates.

(d) Many of the independent airlines that once served Kawaii have been
purchased by larger multinational airlines.

Answer:

167. A small percentage of dogs are believed to be able to detect the onset of
seizures in their owners. A dog with this ability will display characteristic
behaviors, such as staring intently at its owner, just before a seizure occurs.
Observations of epilepsy patients do not reveal any noticeable change in odor,
behavior, or appearance before a seizure. However, seizure-detecting dogs can
predict a seizure even when the patient is in another room.

If the statements above are true, which of the following is most strongly
supported by them?
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(a) Seizure-detecting dogs are not appreciably more accurate in predicting
seizures when they are in the room with a patient than when they are in another
room.

(b) No dogs are able to detect the onset of a heart attack in their owners.

(c) Some dogs must be able to recognize a change in odor that medical science
has not yet identified.

(d) Seizure-detecting dogs do not rely on visual information to predict a seizure.
Answer:

168. If the length of Amanda's membership was rounded up to the nearest whole
month by her gym, then Amanda was charged for how many months for her gym
membership?

(1) Each month's membership fee was the same, and the total charge for
Amanda's membership was $120.

(2) If Amanda had ended her membership 20 days sooner, she would have been
charged S30 less.

(a) Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.
(b) Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

(c) BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is
sufficient.

(d) EACH statement ALONE is sufficient.
Answer:

169. Although the price of gasoline can sometimes reach uncomfortable highs,
the true price of gas is not reflected in the price paid at the pump. Oil companies
receive billions of dollars in tax credits and subsidies from the government. In
addition, taxes pay for the maintenance of roads and highways, which the oil
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companies rely on to create a market for their product. Therefore, drivers of
small, high-mileage vehicles are subsidizing the gas purchases of drivers of gas-
inefficient vehicles.

Which of the following would it be most useful to determine in order to evaluate
the argument?

(a) Whether other segments of the population, such as pedestrians or bicyclists,
derive benefits from road and highway maintenance

(b) Whether, on average, drivers of high-mileage vehicles of drivers of gas-
inefficient vehicles spend more per month on gas

(c) Whether oil companies earn a substantial proportion of their profits from
automobile gasoline sales

(d) Whether the benefits of road and highway maintenance accrue
disproportionately to drivers of gas-inefficient vehicles

Answer:

170. Geologist: The element tantalum, which originates as a mineral ore known as
coltan, is used as a capacitor in computers and cell phones. Most tantalum is
exported by Canada, China, South America, and Australia. However, a small
percentage of the world supply comes from poorly governed or conflict-torn
regions of Africa and is mined using objectionable practices such as child labor. A
group of scientists has begun working on a method that | believe will be able to
detect chemical signatures that can distinguish tantalum samples according to
their location of origin. Their technique needs to be further developed into a
standardized and widely reproducible method of testing. If such testing becomes
standard use among manufacturers and suppliers, it would allow companies and
consumers a way to sanction human rights abuses through the marketplace.

In the geologist's argument, the two portions in boldface play which of the
following roles?
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(a) The first presents a circumstance for which the geologist offers an explanation;
the second is part of that explanation.

(b) The first acknowledges a consideration that weighs against the conclusion of
the argument; the second is that conclusion.

(c) The first acknowledges a consideration that weighs against the conclusion of
the argument; the second provides evidence in support of that conclusion.

(d) The first is a judgment advanced in support of the conclusion of the argument;
the second is that conclusion.

Answer:

171. For years, anthropologists have viewed as the inevitable result of contact
between cultures, the domination and replacement of one culture by another.
This scenario was thought to have occurred when Egypt conquered its southern
neighbor, Nubia, in 150 B.C. However, a recent study of a burial site of high-
ranking Egyptians in Nubia reveals that some were buried according to Egyptian
tradition, and other were buried according to Nubian custom. This finding
indicates that members of both cultures may share in the ruling of a conquered
region.

Which of the following, if true, most strongly supports the argument?

(a) The burial site also housed the remains of several visitors from nations other
than Egypt and Nubia, and most of those visitors were buried according to
Egyptian tradition.

(b) Nubians who were buried in Egypt during the same period were buried
according to Egyptian tradition.

(c) The burial site was not used as the resting place of Egyptians until 25 years
after Egypt conquered Nubia.

(d) More than three-quarters of the people interred at the burial site are thought
to have been Nubians.
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Answer:

172. City Council: Cities may issue municipal bonds to fund public projects.
Because the interest paid to the bond holder is tax-exempt, municipal bonds are
an attractive investment. So, to pay for the five state-of-the-art school buildings
needed to accommodate our growing student population, Northopolis should
issue a ten-year, $200 million bond, thereby paying for the buildings with
revenues from an expanding tax base.

Which of the following, if true, casts the most serious doubt on the likelihood that
the bond issue recommended above will have the result that is claimed?

(a) Most Northopolis citizens would be reluctant to support a tax increase to pay
for new school buildings.

(b) Because municipal bond interest is tax-exempt, bond issues can severely affect
a city's tax revenues for the life of the bond, despite the short-term benefits.

(c) Many popular investments are created by pooling state and municipal bonds
to create tax-exempt index funds.

(d) Estimates of the cost of five new school buildings vary from well below $200
million to well above $200 million.

Answer:

173. Demographic experts predict that the global human population will reach its
peak sometime in the middle of this century, after which it will begin to decline.
Population growth is driven primarily by high birth rates in developing countries.
It is known that when women have access to education and economic
opportunities, they choose to have fewer children. Therefore, these experts
propose expanding educational and economic opportunities to women in
developing countries to bring about an earlier and smaller population peak.

Which of the following, if true, provides the strongest grounds to doubt that the
experts' proposal, if adopted, will achieve its aim?
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(a) The demographic experts proposing expanding opportunities for women in
developing countries made the same recommendations over twenty years ago.

(b) The experts' prediction is based on realistic assessments of the educational
and economic opportunities that can be made available to women in developing
countries before that time.

(c) Many women in industrialized countries will continue to have four or more
children despite access to a variety of educational and economic opportunities.

(d) The demographic experts fail to explain why an earlier and smaller population
peak is preferable to a later and larger peak.

Answer:

174. Economist: The law of demand predicts that as the price of a good goes
down, demand for that good will increase, and vice-versa. In a recent experiment,
economists gave coupons for rice to families in a province of China, where it is a
staple food. The coupons effectively lowered the cost of rice, and should have led
the families to buy more of it. Instead, households given the coupons purchased
less rice than a control group who did not receive coupons.

Which of the following, if true, most helps to explain the amount of rice
purchased by families who received coupons?

(a) Chinese families spend an unusually high proportion of their income on rice.

(b) The prices of staple goods, including foodstuffs such as rice, do not fluctuate
as much as those of non-necessary goods, such as consumer electronics.

(c) In the months before and after the experiment, the average per-family
consumption of rice in the Chinese province steadily decreased.

(d) The availability of the coupons meant that families had more money to spend
on other things, including more expensive substitutes for rice.
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Answer:

175. Driving under the influence is a more severe problem among college
students at rural and suburban universities than at urban universities. Social
scientists wanted to determine how much of the problem is due to the distance
students must drive to obtain alcohol. They looked at police records for incidents
involving students at a number of universities, and compared those with the
mean distances between student housing and bars and liquor stores. The longer
the distances, the more likely students were to be arrested or involved in
accidents.

Which of the following, if true, would it be most important to take into account in
evaluating the result?

(a) Many college students do not purchase alcohol at bars or liquor stores.

(b) Students at rural, suburban, and urban universities are arrested for driving
under the influence more frequently than are non-student members of their
communities.

(c) The average enrollment at urban universities is greater than that at rural and
suburban universities.

(d) Local sheriff's departments near rural and suburban universities devote more
resources to identifying and arresting those driving under the influence than do
urban police forces.

Answer:

176. Some large European cities, such as Paris and Barcelona, have implemented
bicycle sharing programs that allow people, for a small fee, to obtain a bike at any
of hundreds of locations and drop it off near their destination. Currently, most
large U.S. cities face congestion with cars and taxis, have few bicycle lanes, and
discourage the locking of bicycles to poles and fences. Therefore, until the culture
of cities becomes less hostile to bicyclists, a wide scale program will not be a
viable form of alternative transportation.
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Which of the following would it be most useful to determine in evaluating the
argument?

(a) Whether an sharp increase in the number of bicyclists in U.S. cities would
change attitudes toward bicyclists

(b) Whether U.S. who drive cars know how to operate bicycles

(c) Whether major U.S. cities have plans to expand the availability of bicycle lanes
in downtown areas

(d) Whether the number of people interested in traveling by bicycle is greater in
U.S. than in Europe

Answer:
177. Which of the following most logically completes the argument?

Researchers have developed a blood test to screen for early signs of prostate
cancer. The test detects protein, prostate-specific antigen (PSA), that is produced
by the prostate in greater amounts when cancer is present. Testing for PSA can
detect prostate cancer in the earliest stages in men who show no symptoms, but
the diagnosis must be confirmed by additional tests due to a high rate of false
positives. Recently, however, the National Health Organization recommended
against PSA screening of men over 75. This group would probably not benefit,
since

(a) many men over 75 have already been diagnosed with prostate cancer

(b) the additional tests required to confirm the diagnosis are especially taxing on
men over 75

(c) even if early signs are present, men over 75 who display no symptoms of
prostate cancer are unlikely ever to do so

(d) the fact that PSA is present in the body does not itself strongly suggest that
prostate cancer is present
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Answer:

178. Of the 11 movies playing at a certain cinema complex, some are action
movies and some are more than two hours long. How many of the movies are
action movies but are two hours long or shorter?

(1) All of the action movies playing at the complex are also two hours long or
shorter.

(2) 4 of the movies playing at the complex are not action movies and are two
hours long or shorter.

(a) Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.
(b) Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

(c) BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is
sufficient.

(d) Statements (1) and (2) TOGETHER are NOT sufficient.
Answer:

179. From an article in the Wall Street Chronicle: Sales statistics of major
electronics manufacturers with sales in the United States show that 80% of
consumer electronics (such as televisions, DVD players, and computers) sold in
the U.S. last year were manufactured in China.

From an article in Consumer Results Magazine: The results from last year's survey
on consumer electronics choices show that while products made in China are still
very popular, more and more Americans are buying products made in Japan,
Germany, and the United States. These three countries combined account for
38% of products sold in the U.S. last year.

For both of the findings to be accurate, which of the following must be true?

(a) More Americans who do not purchase consumer electronics prefer goods
produced in China to those produced elsewhere.
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(b) Major electronics manufacturers do not limit their production plants to one
country, often dividing different stages of manufacturing among plants around
the world.

(c) Most consumer electronics purchased last year that were not manufactured in
China were manufactured and sold in the United States.

(d) Major electronics manufacturers sell a higher percentage of Chinese-produced
consumer devices than do smaller manufacturers.

Answer:

180. A certain customer at a restaurant calculates his tip by adding a constant
dollar amount to another sum that is directly proportional to the total bill for the
meal. If his total bill for the meal was $24.00, what will the be the dollar amount
of his tip?

(1) If the total bill for his meal had been four dollars greater, the customer
would've calculated a tip of $4.80.

(2) If the total bill for his meal had been six dollars less, the customer would've
calculated a tip of $3.80.

(a) Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.
(b) Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

(c) BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is
sufficient

(d) EACH statement ALONE is sufficient.
Answer:
181. Company President: Last year, Broad Street Restaurant Suppliers switched

from pen-and-paper order forms to an online process. Unexpectedly, this resulted
in a decrease in orders placed by restaurants. Thus, it is likely that many

For Complete EBook with Detailed Solution to all the Questions Please Visit
http://lwww.aptitudetests4me.com/Buy_Analytical_Ability_Ebook.html



98
Analytical Ability EBook

restaurateurs lack the computer skills required by the online process and were
more comfortable with the old forms.

Vice-President of Marketing: Not so. Statistics show a widespread decline in sales
across the restaurant supply industry for last year.

Which of the following, if true, most undermines the Vice President of
Marketing's response?

(a) The decline in sales across the restaurant supply industry affected the segment
of the market that represents the largest part of Broad Street's business.

(b) The online process offered by Broad Street allows restaurateurs to better
customize their purchases and specify more precise delivery schedules.

(c) Broad Street is known throughout the restaurant supply industry as a leader in
customer service.

(d) Declines in sales across the restaurant supply industry usually stem from
smaller average orders placed by each restaurant, but one-quarter of Broad
Street's previous customers placed no order at all last year.

Answer:

182. Sajitha: Sales of Lodgewood's specialty microbrew beers increased steadily
from 2000 to 2002. The rise in sales was probably due in large part to the new
label and ads developed by their advertising firm, which played up the
microbrewery's local history.

Kyle: There must be another explanation: The data you cite show the rise in sales
started in early 2000. Yet the company's new advertising campaign did not go into
effect until September of that year.

Which of the following, if true, would most seriously weaken the force of the
objection that Kyle presents to Sajitha's explanation?
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(a) Beer buyers surveyed in 2001 cited the advertising campaign as the primary
reason they became aware of Lodgewood's offerings.

(b) A nationwide beer distributor stopped placing two other specialty microbrew
brands in stores in 2000.

(c) Lodgewood's new label was the main focus of its advertising campaign.
(d) Lodgewood's new label appeared on their beer bottles in late 1999.
Answer:

183. Marketing strategists at a major video retailer are discussing ways to
increase revenues by boosting mid-week DVD rentals, which generally fall far
below weekend rentals. One plan to accomplish this is to extend the return date
for DVDs rented between Monday and Wednesday so that customers may keep
them until Friday. Since more customers will return to the store on Fridays, they
will be also be more likely to rent again for the weekend.

Which of the following, if true, would indicate the most serious weakness in the
plan above?

(a) The number of clerks currently employed by the video retailer is not sufficient
to handle a significant increase in business on Monday, Tuesday, and Wednesday.

(b) Customers who are lured by extended return dates for mid-week DVD rentals
are much less likely than the average customer to rent a DVD on Friday.

(c) Even if the video retailer increases its mid-week rentals, some customers will
continue to rent only on Fridays.

(d) The video retailer currently offers two-day rentals, so the plan would not
provide an additional inducement to rent DVDs on Wednesday.

Answer:

184. EnergyMill Company Advertisement:
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An Environmental Impact Coalition report shows that wind power produces the
fewest pollutants among all green energy alternatives. This shows that EnergyMill
wind turbines are the best choice for powering new developments in rural areas.

Which of the following, if true, most seriously weakens the argument in the
advertisement?

(@) An earlier Environmental Impact Coalition report showed that solar power
produces fewer pollutants than does wind power.

(b) In the last five years, the government has invested more in wind power than in
any other form of green energy.

(c) The dispersion of homes in rural areas makes wind power several times more
expensive that conventional energy sources.

(d) The difference between the number of pollutants generated by wind power
and conventional power sources is quite pronounced.

Answer:

185. As part of a plan to overhaul a car company's lagging sales due to its image
as environmentally irresponsible, consultants recently proposed the release of a
new car line. The new line of small, high-mileage and hybrid vehicles would
appeal to a set of consumers who would never have previously considered buying
from the company. In that way, the company could easily retain the market for its
traditional vehicles while tapping into a new market niche and expanding its
revenue base.

Which of the following, if true, would most strongly support the consultants'
proposal?

(a) The majority of cars currently manufactured by the company are large and are
not known for their fuel efficiency.
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(b) A reliable survey of the company's previous customers showed that most of
them would more strongly consider buying from the company again if it offered
hybrid vehicles.

(c) Car sales for all companies have lagged in the last two years, but are expected
to increase in the next six months.

(d) A new focus on small, high-mileage, and hybrid vehicles would require
research and development investment greater than the company's CEO has made
in his tenure to date.

Answer:

186. Within Central City, the high-end retailer RiverRock makes most of its sales at
its flagship store in Central Plaza, a major commuter center in the business
district. Nevertheless, marketing strategists at RiverRock propose increasing
revenues by closing the lease on this high-rent location and focusing on its smaller
satellite stores throughout the region.

Which of the following, if true, casts most doubt on the viability of the plan by
RiverRock's marketing strategists to focus on smaller satellite stores?

(a) Most of the merchandise available at RiverRock's flagship store is also
available at each of its satellite stores.

(b) The frequency with which consumers who live near Central Plaza shop at
RiverRock is roughly equal to that of consumers who live in the suburbs, where
most of the satellite stores are located.

(c) When RiverRock opened its flagship store fifteen years ago, it closed two
smaller stores in the Central City area.

(d) The sales of the flagship RiverRock store allow the company to devote large
sums to television advertising in Central City, which has a significant positive
impact on satellite store sales.

Answer:
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187. Rice is a staple crop in the country of Bhupet, and enough is produced each
year to both meet the country's demand and be a major export. This season,
however, rice yields fell 20% due to infestation by rice blast fungus. Because rice
commands a somewhat higher price on the export market than the domestic
market, economists warn that the Bhupet people will not be able to buy the rice
they need. In order to help the local economy, therefore, the Prime Minister of
Bhupet has proposed distributing state-subsidized rice coupons to each citizen.

Which of the following, if true, most strongly calls into question the likelihood
that implementation of the Prime Minister's proposal will have the desired
consequence?

(a) Even if the rice coupons do not allow citizens of Bhupet to consume as much
rice as they do in a typical year, the existence of the coupons will help maintain
general confidence in the economy.

(b) Rice distributors in Bhupet are willing to sell rice to the government at a price
below the domestic market price.

(c) Rice is a fundamental component in the diet of most citizens of Bhupet, and it
is their main source of vitamin B1.

(d) The exportation of rice makes up 75% of Bhupet's foreign trade and is the
direct or indirect source of employment for 10% of the adult population.

Answer:

188. From 1970 to 1990, sea otters made up a steadily decreasing percentage of
the marine life population in North America. The increasingly widespread effects
of pollution and habitat destruction were responsible for this decrease. However,
although pollution was a more frequent target of environmental legislation, it was
found that pollution in North America increased by a greater percentage than did
the rate of habitat destruction.

Which of the following, if true, most helps to account for the finding?
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(a) Environmental legislation limiting industrial pollution was much more financial
onerous on North American firms than legislation protecting marine habitats.

(b) The decreasing percentage of sea otters among the marine population had a
positive effect on the species that sea otters typically prey on.

(c) Most of the habitats likely to be destroyed by human activity had already been
compromised for marine life by 1970.

(d) Habitat destruction was a more frequent target of environmental legislation
than pollution in the decade preceding 1960.

Answer:

189. Geraflex, a new exercise program designed to strengthen muscle in the
elderly, is offered year-round, and a typical class contains between five and ten
members, most of whom already suffer from age-related muscle loss. Classes are
generally larger from April through October; from November through March, class
sizes tend to be smaller. The variation in class size can probably be explained by a
decrease in mobility among the elderly during the winter months.

Which of the following, if true, provides the strongest support for the explanation
offered?

(a) From April to October, more Geraflex classes are offered than from November
to March.

(b) Geraflex class sizes vary dramatically in size from year to year.
(c) Many elderly people travel to warmer climates during the winter months.

(d) During the winter months in many areas, roads and sidewalks are more
dangerous, so the elderly are less likely to leave their homes.

Answer:

190. How many of the 40 securites in a portfolio are domestic stocks?
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(1) 28 of the 40 securities are stocks.
(2) 35 of the 40 securities are domestic.

(a) Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.
(b) Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

(c) BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is
sufficient.

(d) Statements (1) and (2) TOGETHER are NOT sufficient.
Answer:

191. Dolphin sightings are common at Nine Mile beach. Usually dolphins avoid
human beings, but sometimes they approach marine workers who offer them
food. This has boosted the Nine Mile's appeal to tourists, who once congregated
at a neighboring beach. In order to further increase the beach's popularity,
therefore, marine workers have proposed implementing a permanent dolphin-
feeding program.

Which of the following, if true, most strongly calls into question the likelihood
that implementation of the marine workers' proposal will have the desired
consequence?

(a) A permanent dolphin-feeding program would likely raise the number of
dolphins visible to tourists on any given day.

(b) Business owners who depend on tourism are willing to pay most of the cost of
implementing the program.

(c) Nine Mile beach does not offer the same quality of swimming or surfing as do
neighboring beaches, but tourists travel from around the world to scuba dive
there.
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(d) Tourists are attracted to Nine Mile by the opportunity to see dolphins living in

the wild, unlike at a nearby theme park, where the dolphins are fed by park
employees.

Answer:

192. Karl and Nell made donations to the same charity last year. Did Karl donate
more money to the charity than Nell did?

(1) The amount of money that Nell donated is $200 less than twice the amount
that Karl donated.

(2) Karl donated more than $250 to the charity.

(a) Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.
(b) Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

(c) BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is
sufficient.

(d) EACH statement ALONE is sufficient.
Answer:

193. Seafood restaurants in Snare Island generally serve only fish caught in the
waters around Snare Island since inhabitants are accustomed to the distinctive
taste of Snare fish. Nevertheless, fishermen from Chinua, a nearby island, plan to
sell Snare Island residents fish caught in Chinuan waters by selling at a lower price
than that of Snare fish and marketing it as a low-fat alternative.

Which of the following, if true, casts most doubt on the viability of the plan by

Chinua's fishermen to sell their apples in Snare Island?

(a) Many of the species of fish caught by Snare Island fishermen and Chinuan
fishermen are closely related.
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(b) Consumers in Snare Island eat fish in restaurants about as often as do
consumers in Chinua.

(c) At times in the past, Snare Island fishermen have sold much of their catch to
buyers in Chinua.

(d) Most Snare Island residents are not concerned about their diet and believe
that locally-caught fish are low-fat.

Answer:

194. A health club charges an annual $10 renewal fee for all memberships that
are not renewed at least 30 days before they would expire. If Eileen renewed her
membership 7 days ago, was she charged the renewal fee?

(1) If Eileen had renewed her membership 14 days later, she would have paid the
renewal fee.

(2) If Eileen had renewed her membership 3 days later, she would not have paid
the renewal fee.

(a) Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.
(b) Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

(c) BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is
sufficient.

(d) EACH statement ALONE is sufficient.
Answer:

195. As part of a major overhaul of Froland's apple industry, outside produce
experts have proposed reducing the size of orchards that grow less popular kinds
of apples and then setting up farmstands on the remaining acreage. In that way,
orchards owners could sell many more kinds of products while continuing to grow
a wide variety of apples.
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Which of the following, if true, would most strongly support the experts'
proposal?

(a) Froland's apple orchards are best-known for the less popular kinds of apples
that orchards in other regions rarely grow.

(b) Most of the visitors to Froland's apple orchards are tourists who would also
purchase other regional items such as books and crafts.

(c) Few of Froland's apple orchards are located along major highways where
farmstands would attract a large number of passersbhy.

(d) Farmstands are generally low-cost structures that take little time to design and
build.

Answer:

196. At a furniture store, each chair sells for the same price and each desk sells for
the same price. What is the total price for 2 chairs and 5 desks at the store?

(1) At the store the total price for 1 chair and 1 desk is $160.

(2) At the store the total price for 5 chairs and 2 desks is $440.

(a) Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

(b) Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

(c) BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is
sufficient.

(d) EACH statement ALONE is sufficient.
Answer:

197. Advertisement in the Harptown Train Station:
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The Harptown Transport Society reports that the Silver Bullet train has the fewest
delays per rush-hour period of any high-speed train. This shows that the Silver
Bullet train is one of the most efficient trains currently in use.

Which of the following, if true, most seriously weakens the argument in the
advertisement?

(a) The Harptown Transport Society report listed many non-high-speed trains in
other metropolitan areas that were more frequently delayed than the Silver
Bullet train.

(b) In recent years more travelers have regularly ridden the Silver Bullet train than
any other high-speed train.

(c) High-speed trains are more likely to be delayed during rush hour than any
other type of train.

(d) The difference between the number of delays on the Silver Bullet train and
that for other high-speed trains is quite pronounced.

Answer:

198. Engineers are attempting to make PX-1000 series cars more environmentally
friendly by increasing their use of natural gases. One plan to accomplish this is to
use organic waste to power cars. When organic waste decomposes, it releases
fuel that is much more powerful than crude oil.

Which of the following, if true, would indicate the most serious weakness in the
plan above?

(a) Some parts of the world do not generate enough organic waste to power a
significant number of automobiles.

(b) All existing mechanisms to operate engines with fuel drawn from decomposed
organic waste are too large to fit in automobiles.
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(c) Even if organic waste proves to be an effective alternative to crude oil, some
car owners will be reluctant to buy cars that run on this new fuel.

(d) Each year several million tons of organic waste decomposes but is not used to
the full extent of its energy potential.

Answer:

199. In a certain restaurant, if each soft drink costs the same amount, what is the
cost, excluding sales tax, of 1 soft drink?

(1) The cost, excluding sales tax, of 5 soft drinks is $6.25.

(2) The cost, including sales tax, of 3 soft drinks is $4.05.

(a) Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.
(b) Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

(c) BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is
sufficient.

(d) EACH statement ALONE is sufficient.
Answer:

200. Mayor of Alberville: Factories in Alberville together emitted twenty percent
less carbon dioxide in 2001 than in 2000. The decline in emissions was probably
due almost exclusively to the March 2001 development of floating seaweed
farms, the first step toward reducing carbon dioxide emissions that, in addition to
being cost-efficient, was also widespread.

Scientists: That cannot be the cause. As you yourself clearly stated, carbon dioxide
emissions were reduced by twenty percent. Yet seaweed farms can only absorb
ten percent of Alberville factories' emissions.

Which of the following, if true, would most seriously weaken the force of the
objection that the scientists present to the mayor's explanation?
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(a) The cost of the seaweed farms was covered by a tax increase to industrial
firms in Alberville.

(b) The number of factories in Alberville was greater in 2001 than in 2000.

(c) Seaweed farms had a greater effect on Alberville emissions levels than any
other plan undertaken in Alberville.

(d) When seaweed plants die, they can be used as a low-emissions fuel source.
Answer:

201. Ghostwriting is the practice of obtaining from an independent writer a
manuscript that an author or organization publishes under their own name.
Dinosaurs, Inc., an amateur archaeological society that has in recent years seen a
decline in membership, plans to boost its popularity by hiring a ghostwriter for its
newsletter to provide the kind fresh perspective and stylistic innovation that the
group is no longer capable of providing itself.

Which of the following, if true, most strongly supports the prediction that
Dinosaurs' plan will achieve its goal?

(a) Among the parts of the newsletter that Dinosaurs, Inc. does not plan to have
ghostwritten are some that require knowledge of the society itself that no non-

member would be familiar with.

(b) The editor of the Dinosaurs, Inc. newsletter ghostwrites newsletter articles for
other amateur archaeological society newsletters.

(c) Few ghostwriters are both stylistically innovative and able to write accurately
about specific archaeological issues.

(d) Many former members of Dinosaurs, Inc. cited the dullness of the newsletter
as a reason for their choice to leave the society.

Answer:
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202. Kingsland companies often outsource data-entry tasks to foreign firms. The
results of this outsourcing have been shown to lower costs for Kingsland
companies in several different ways, and high costs can potentially bankrupt
Kingsland companies. The decision to outsource is rare, except during recessions,
when the Kingsland economy is weak. Therefore, Kingsland companies probably
outsource their work because doing so helps them avoid bankruptcy.

Which of the following would it be most useful to determine in order to evaluate
the argument?

(a) Whether outsourcing is the most effective cost-lowering method available to
Kingsland firms.

(b) Whether the firms to which Kingsland companies outsource data-entry tasks
are at risk of bankruptcy during recessions

(c) Whether companies in cities other than Kingsland outsource data-entry tasks
to foreign firms

(d) Whether the only time foreign firms are available for data-entry tasks is when
the Kingsland economy is weak

Answer:

203. A hotel purchased a number of hand towels and a number of bath towels. If
the cost of each hand towel was $6.00 and the cost of each bath towel was
$11.00, what was the total cost of the hand towels and bath towels purchased by
the hotel?

(1) The total cost of the hand towels purchased by the hotel was $84.00.

(2) The total number of hand towels and bath towels purchased by the hotel was
32.

(a) Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

(b) Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.
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(c) BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is
sufficient.

(d) EACH statement ALONE is sufficient.
Answer:
204. Which of the following most logically completes the argument below?

When malaria rates in a tropical country are high, drug companies reduce the cost
of many kinds of anti-parasite medications. The reason is that drug companies
want to take in as much money as possible in medication sales so that they can
invest the money into research for more profitable drugs. Anti-parasite drug cost
reductions are likely to achieve this objective since

(a) when prices decrease, more companies enter the market with competing anti-
parasite drugs

(b) drug companies that spend a smaller percentage of revenues on research are
unable to take advantage of anti-parasite drug cost reductions for this reason

(c) many more people will purchase anti-parasite medications if the price is lower
than if the price remained the same

(d) an increase in the number of anti-parasite drugs sold raises the likelihood that
some species of parasite will mutate so that the drug is not effective against it

Answer:

205. Which of the following most logically completes the argument below? When
malaria rates in a tropical country are high, drug companies reduce the cost of
many kinds of anti-parasite medications. The reason is that drug companies want
to take in as much money as possible in medication sales so that they can invest
the money into research for more profitable drugs. Anti-parasite drug cost
reductions are likely to achieve this objective since
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(a) when prices decrease, more companies enter the market with competing anti-
parasite drugs

(b) drug companies that spend a smaller percentage of revenues on research are
unable to take advantage of anti-parasite drug cost reductions for this reason

(c) many more people will purchase anti-parasite medications if the price is lower
than if the price remained the same

(d) an increase in the number of anti-parasite drugs sold raises the likelihood that
some species of parasite will mutate so that the drug is not effective against it

Answer:

206. Jonathan: Have you heard about this new proposed development project?
They want to build a 950-unit apartment complex along the waterfront. That
means that over 1,000 additional vehicles will be passing through the main
downtown intersection each day, which will increase fumes and congestion to
unacceptable levels.

Daria: Is that really such a large increase? When I'm sitting at the downtown
coffee shop, | see at least 50 vehicles go through that intersection every time the
light changes. Assuming the light changes every three minutes, that's 1,000
vehicles passing through every hour.

Daria's argument relies on the assumption that

(@) changes in the traffic light patterns could mitigate the effect of the
development

(b) the traffic at the time of day Daria sits at the coffee shop represents a typical
level

(c) residents of apartment complexes usually own at least one car per apartment

(d) Jonathan's understanding of the impact of fumes and congestion on the
quality of life downtown is reasonably accurate

For Complete EBook with Detailed Solution to all the Questions Please Visit
http://lwww.aptitudetests4me.com/Buy_Analytical_Ability_Ebook.html



114
Analytical Ability EBook

Answer:

207. At Oliveri's candy store, Brand X chocolate is sold by the ounce and Brand Y
ice cream is sold by the pint. Excluding sales tax, what is the total cost for 3
ounces of Brand X chocolate and 1 pint of Brand Y ice cream?

(1) Excluding sales tax, the total cost for 12 ounces of Brand X chocolate and 4
pints of Brand Y ice cream is $43.00.

(2) Excluding sales tax, the total cost for 4 ounces of Brand X chocolate and 4 pints
of Brand Y ice cream is $21.00.

(a) Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.
(b) Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

(c) BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is
sufficient.

(d) EACH statement ALONE is sufficient.

Answer:

208. Commensalism is any relationship between two living things in which one
benefits and the other is neither helped nor harmed. Oxpecker birds are
commensal species that flock with the large mammals of the African Savannah.

They feed on ticks, fleas, and flies that are attracted to the mammals' fur.

Which of the following, if true, can most reasonably be inferred from the
statements above?

(a) Oxpecker birds are neither helped nor harmed by the large mammals of the
African Savannah.
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(b) Ticks, fleas, and flies are commensal species in their relationship with both
oxpecker birds and the large mammals of the African Savannah.

(c) No species exist in a commensal relationship with oxpecker birds except for
large mammals of the African Savannah.

(d) Preying on small creatures drawn to the fur of the large mammals of the
African Savannah does not significantly affect those mammals.

Answer:

209.
‘Apple Marie’ is a company which mekes ready-made desserts, such as fruit pies end
cheesecakes. These deserts are sold in supermarkets all over the country, and are
advertised on natioral televisior and In cookirg magazines. Apple Marie’'s most popular
product is a home-made cherry pie. Sales from this item make up thirty per cent of the
company’s revenue.

The directars of the company wish to increase the sales of thair ather products in the same
way. They have recently hired an advertising consultant, whe intends to increase the sales
of the company by creating low fat versions of traditionel favourites. These products will be
advertised as ‘Half-baked Apple Marie’, as they will have under half the amount of fats and
sugars as the traditional product. The Half-baked Apple Marie range will be on sale for a
frail period of four weeks.

Which of the following statement is most true?

(a) Half-baked products have half the sugars of traditional products

(b) Half-baked products required baking at home

(c) Half-baked products have under half the amount of fat of traditional products
(d) Half-baked products will be on sale for a trial period, at half price

Answer:

210. If there are no dancers that aren’t slim and no singers that aren’t dancers,
then which statements are always true?
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(a) There is not one slim person that isn't a dancer
(b) All singers are slim

(c) Anybody slim is also a singer

(d) None of the above

Answer:

211.

Four doors have been built into a flat wall next to each other. The blue door is furthest to the left. The door to the right of the
red door is brown and the brown door is fiot next to the blue door. The red door is not next to the blue door either. The last
door is orange.

Which statement is correct?

1: The red door is furthest to the nght
2: The brown door is next to the orange door
3: The orange door is to the right of the blue door
4: The red door is not next to the orange door

(a) 2

(b) 4

(c)3

(d)1

Answer:

212. Some kings are queens. All queens are beautiful.
Which of the two conclusions is/are correct

1. All kings are beautiful
2. All queens are kings

(a) 1is correct
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(b) Both 1 and 2
(c) Neither 1 nor 2

(d) 2 is correct

Answer:
213.
Larry. Debra and Michael have cows.
Michael also has sheep.
Daniel has goats and ducks.
Kimi also has goats.
Larry also has pigs.
Kimi just bought geese.

Who has the fewest types of animals?

(a) Michael

(b) Debra

(c) Larry

(d) Kimi

Answer:

214. A woman walking with a boy meets another woman and on being asked
about her relationship with the boy, she says, "My maternal uncle and his

maternal uncle's maternal uncle are brothers." How is the boy related to the
woman ?
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(a) Husband

(b) Brother-in-law

(c) Son

(d) Grandson

Answer:

215. A, B, C, D, E, F and G are members of a family consisting of four adults and
three children, two of whom, F and G are girls. A and D are brothers and A is a
doctor. E is an engineer married to one of the brothers and has two children. B is
married to D and G is their child. Who is C?

(a) E's daughter

(b) F's father

(c) G's brother

(d) A's son

Answer:

216. Peter weighs more than Michael. Nina weighs more than John. John weighs
less than Ben. Michael and Ben are exactly the same weight.

If the information above is true, which of the following must also be true?

(a) Nina weighs more than Peter

(b) Michael weighs less than Nina

(c) Peter weighs more than John

(d) Michael weighs less than John
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Answer:

217. Dan is Joshua's son and Guy's brother. Margaret is Guy's mother and Judy's
daughter. Which of the statements below is true?

(a) Judy is Dan's mother-in-law
(b) Margaret is Dan's mother

(c) Judy is Joshua's grandmother
(d) None of the above

Answer:

218. All Germans speak Italian. All Italian speakers ride bicycles. Which of the
following statements must be true?

(a) All Italians speak German

(b) All bicycle riders are German

(c) All Germans ride bicycles

(d) Some of the Italians riding bicycles are Germans
Answer:

219. All owls have night vision, and birds that have night vision aren’t black.
Which of the following statements must be true?

(a) Black ravens don't have night vision
(b) All owls are not black

(c) Birds that are black lack night vision
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(d) All of the above
Answer:

220. All psychologists are scientists. All nice people are psychologists. Which of
the following statements must be true?

(a) All psychologists are nice

(b) All scientists are psychologists

(c) All nice people are scientists

(d) Some nice people aren’t scientists
Answer:

221. If there are no dancers that aren’t slim and no singers that aren’t dancers,
then which statements are always true?

(a) There is not one slim person that isn't a dancer
(b) All singers are slim

(c) Anybody slim is also a singer

(d) None of the above

Answer:

222. Canadian wheat farmers produced so much wheat over the last season that
wheat prices plummeted. The government tried to boost wheat prices by offering
farmers who agreed not to harvest 20 percent of their wheat field compensation
up to a specified maximum per farm. The Canadian government's program, if
successful, will not be a net burden on the budget. Which of the following, if true,
is the best basis for an explanation of how this could be so?

For Complete EBook with Detailed Solution to all the Questions Please Visit
http://lwww.aptitudetests4me.com/Buy_Analytical_Ability_Ebook.html



121
Analytical Ability EBook

(a) If prices were allowed to remain low, the farms would be operating at a loss,
causing the government to lose tax revenue on farm profits

(b) Wheat production in several countries declined the year that the
compensation program went into effect in Canada

(c) The first year that the compensation program was in effect, wheat acreage in
Canada was 5% below its level in the base year for the program

(d) The specified maximum per farm meant that for very large wheat farms the
compensation was less per acre for those acres than they were for smaller farms

Answer:

223. New stores financed by investors have a much lower failure rate than stores
financed by other means. Source of financing, therefore, must be a more
important causative factor in the success of a new store than are such factors as
the location of the store, the quality of the staff, or the choice of merchandise.

Which of the following, if true, most seriously weakens the argument above?

(a) Investors tend to be more responsive than others to changes in a new store's
financial needs

(b) The strategic planning of a new store is a less important factor in the long-
term success of the business than are the personal characteristics of the owner

(c) More than half of all new stores close within three years

(d) Investors base their decisions to fund new stores on such factors as the
personal characteristics of the owner, location of the store, and marketing goals

Answer:

224. Rearrange the letters in the word "impart" in order to make a new word.
Which sentence below best describes the new word?
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(a) An animal

(b) Measurement of time

(c) Part of the human body

(d) Fruit or vegetable

Answer:

225. On christmas morning the four siblings, Luke, Mary, Alice and Jane got their
presents. The parents spent the same amount of money on each child. Alice had
four presents, which was more than Jane, but less than Luke and Mary, and Mary
had the most.

Who is most likely to have received the gift that was the most expensive?

(a) Alice

(b) Jane

(c) Mary

(d) Luke

Answer:

226. All Italians speak Greek. All Greek speakers have cars. Which of the following
MUST be true?

(a) All Italians have cars
(b) All Greeks speak Italian
(c) All with cars are Italians

(d) All Greek speakers are Italians
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Answer:

227. Benis rich but Jim is richer. Mike is poorer than Jim. Who is the richest?

(a) Jim

(b) All are equally rich

(c) Ben

(d) Mike

Answer:

228. For Lydia's birthday all her friends gave her money. Salvia gave a lot, but not
as much as Luke, she gave more than laura though. Dave gave less than Laura and
Bryan, and Bryan gave more than Sylvia.

Who gave Lydia the smallest amount?

(a) Dave

(b) Laura

(c) Bryan

(d) Luke

Answer:

229. Six members of a family ABCDE and F are travelling together. B is the son of C
but C is not the mother of B. A and C are married couple. E is the brother of C. D is
the daughter of A. F is the brother of B. How many male members are there in the
family ?

(a) 4

(b) 3
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(c) 2
(d)1
Answer:

230. A is the brother of B and K, D is the mother of B and E is the father of A.
Which of the following statement is not definitely true?

(a) Aisthe son of D

(b) A'is the father of K
(c) Bis the brother of K
(d) Aisthe son of E
Answer:

231. People who play instruments don’t sing. All singers play instruments. Which
of the following statements must be true?

(a) All singers sing.

(b) Singers don’t sing

(c) Some singers don't sing

(d) None of the above

Answer:

232. Read the five statements below.

1. Jennifer runs faster than Robyn, but slower than Grace.
2. Emma is the slowest.

3. Grace and Harriet run at the same speed.
4. Harriet runs faster than Emma.
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5. Robyn runs faster than Andrea.
Which of the statements above must be true if Harriet runs faster than Andrea?

(@)2,3,4
(b)1,3,4
()1,2,3
(d)1,3,5
Answer:

233. Short basketball players don’t exist. There are short football players. Which
statements are true?

(a) There are football players that aren’t basketball players

(b) All basketball players are football players

(c) A short person can’t be a football player

(d) None of the above

Answer:

234. All birds with wings fly. There are black birds. Which statement is true?
(a) Anything that isn’t black isn’t a bird

(b) Anything without wings isn’t a bird

(c) Anything without wings isn’t a bird

(d) None of the above

Answer:
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235. John runs a used car business, selling Opel, Ford and Peugeot. The cars in his
courtyard are lined in rows of 5 cars each. Looking at the raw arrangement of cars
in the display several patterns are clearly visible:

e There is always at least one Opel and one Ford in each row.

e Two cars of the same manufacturer are always separated.

e A Ford is always placed between two Peugeots.

Which of the following row arrangements is NOT possible?

(a) An Opel between two Peugeots

(b) A Peugeot at the right end of the row

(c) An Opel at the left end of the row

(d) There are two cars between a Ford and an Opel

Answer:

236. G-Path Software LTD is housed in two four-story buildings (A and B) that are
connected by a bridge between the third floors, where all floors are desiganted
for occupying a single function of the business. Getting from reception - located in
the first floor of one of the buildings - to the coffee lounge requires crossing the

bridge once. On his way up from his office to the conference room, the CEO must
cross the bridge twice if he wishes to take a cup of coffee.

Building A building B

Which of the following must be true if the first and second floors in one of the buildings function as research labs?

(a) The conference room is located higher than the coffee room
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(b) A researcher at G-path must cross the bridge in order to go to a conference
meeting

(c) A researcher at G-path must cross the bridge in order to go to a conference
meeting

(d) The CEQ's office and the reception are both located in building A

Answer:

237. James, Ray, Eric and Charles are playing a gambling game. James and Ray
have a secret agreement for immediately splitting both wins and losses between
themselves. Eric owes Charles some money, which immediately entitles Charles
for any Pound eric makes above his initial amount. They all begin with £100 and
place a bet of £25 each round. There is one winner in each round.

Which of the following must be true, If after four rounds Charles has £150, and
James has £100?

(a) Ray won at least one round

(b) Charles won one round at most

(c) Eric won the third round

(d) Charles won exactly two rounds

Answer:

238. Morning shifts are 7 hours long and after-noon shifts are 8 hours long.
Stella works morning as well as after-noon shifts.

Jane never works morning shifts.

Jane is a saleswoman.

Stella called in sick this morning.

Which statement must be true?

(a) Salespersons never work seven-hour long shifts
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(b) Stella sometimes works in the morning, but not Jane

(c) Stella sometimes works in the morning, but not Jane

(d) Stella is a saleswoman

Answer:

239. Staff members of the Foreign Relations unit work nights once a week.
Jessica used to work nights once every week.

Abby works for the Foreign Relations unit.

Which statement must be true?

(a) The Foreign Relations unit works 24/7

(b) Jessica used to work in the Foreign Relations unit

(c) Jessica and Abby used to be co-workers

(d) Abby works nights once every week

Answer:

240. Fiona, Georgia, Heather, lan, John, Kilgore and Lumina are forming a line,
trying to get tickets to a concert.

Fiona is standing in front of lan.

John is standing in front of Heather.

If John is not first in line, Lumina is standing somewhere in front of him.
lan is standing immediately in front of or immediately behind Kilgore.

If Heather is standing third in line, which one of the following lists all of those that
can stand last in line?

(a) Georgia or lan

(b) Georgia, lan or Kilgore

(c) Georgia, lan or Lumina

For Complete EBook with Detailed Solution to all the Questions Please Visit
http://lwww.aptitudetests4me.com/Buy_Analytical_Ability_Ebook.html



129
Analytical Ability EBook

(d) Georgia, lan or Lumina
Answer:

241. Thomas and Sam work every other day (Monday through Saturday).

Thomas and Sam never work together.

Uma, Victor and Winona work twice a week (Monday through Saturday), but
never together.

Thomas and Victor cannot both work on the same day.

Winona never works on Mondays or Fridays.

If Thomas works on Mondays, which of the following is a possible weekly work
schedule for Uma, Victor and Winona (Monday through Saturday, left to right)?

(a) Uma, Victor, Winona, Uma, Victor, Winona

(b) Uma, Winona, Uma, Victor, Winona, Victor

(c) Uma, Winona, Winona, Victor, Uma, Victor

(d) Uma, Winona, Victor, Winona, Uma, Victor

Answer:

242. A chef has to pick four fruits out of the following seven to make a fruit salad:
figs, guavas, honeydews, kiwis, mangos, nectarines and papayas.

Papaya can be selected only if kiwi is selected.

Fig can be selected only if nectarine is selected.

Either mango or nectarine must be selected, but never both.

Either papaya or honeydew must be selected but never both.

If the salad contains either mango or papaya, but not both, then all of the
following must be true, EXCEPT:

(a) If the salad contains guava and mango, it also contains kiwi

(b) If the salad contains nectarine, it must contain fig or guava
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(c) If the salad contains honeydew and mango, it also contains guava
(d) If the salad contains honeydew and mango, it also contains guava
Answer:

243. Review the facts below.

e Jimmy has a cat.

e Brian has a dog.

e Cats do not make a mess.

e All pets can become aggressive, unless they are dogs.

Based on the information above, which of the following MUST be true?

(a) Jimmy's pet is messy

(b) Brian's pet is messy

(c) Cats are always aggressive

(d) Brian's pet is never aggressive

Answer:

244, Fiona, Georgia, Heather, lan, John, Kilgore and Lumina are forming a line,
trying to get tickets to a concert.

Fiona is standing in front of lan.

John is standing in front of Heather.

If John is not first in line, Lumina is standing somewhere in front of him.

lan is standing immediately in front of or immediately behind Kilgore.

If Georgia is standing first and Fiona is somewhere between John and Lumina,
then which one of the following could be false?

(a) Luminais 2nd

(b) Fionais 3rd

(c) Heather is either 5th or last in line
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(d) Kilgore is standing either fifth or sixth in line
Answer:

245. Thomas and Sam work every other day (Monday through Saturday).

Thomas and Sam never work together.

Uma, Victor and Winona work twice a week (Monday through Saturday), but
never together.

Thomas and Victor cannot both work on the same day.

Winona never works on Mondays or Fridays.

If Winona is working on Tuesday, and Sam works with her once a week, which one
of the following must be true?

(a) Sam is working on Tuesday

(b) Victor is working on Monday

(c) Uma is working on Friday

(d) Winona is working on Wednesday

Answer:

246. A chef has to pick four fruits out of the following seven to make a fruit salad:
figs, guavas, honeydews, kiwis, mangos, nectarines and papayas.
Papaya can be selected only if kiwi is selected.

Fig can be selected only if nectarine is selected.

Either mango or nectarine must be selected, but never both.
Either papaya or honeydew must be selected but never both.

All possible combinations of salads must contain —

(a) Kiwi or papaya

(b) Papaya or fig

(c) Nectarine or kiwi
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(d) Mango or honeydew
Answer:

247. John, Kate and Lenny just came back from trips to the following countries:
Mauritania, Nepal, Oman, Peru and Qatar.

Each country was visited by at least one of the travellers.

Each traveller visited either two or three different countries.

Only one traveller visited Qatar.

Every traveller who visited Mauritania went to Nepal as well.

A traveller who visited Qatar did not visit Peru.

John visited all of the countries Kate did.

If Mauritania was visited by exactly two travellers, how many different trips could
Lenny have made?

(a) One

(b) Two

(c) Three

(d) Four

Answer:

248. Review the facts below.

e Johnis a demon.

e Erica is not a princess.

e There are no demons who do not have pointed ears.
e Princesses are always blonde and wear a crown.
Based on the information above, which of the following MUST be true?

(a) John has pointed ears

(b) John and Erica have similar looking ears
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(c) Erica does not have pointed ears
(d) There are blond demons with rounded ears
Answer:

249. Review the facts below.

e Adam sings in church on Sundays.

e Rachel takes the train to work.

* The sky is never blue, unless Adam sings.

* Trains travel only when the sky is blue.

Based on the information above, which of the following MUST be true?

(a) Today is Monday, and it is raining

(b) Rachel walks to work

(c) Trains travel on Sundays

(d) Adam takes the train to work

Answer:

250. The body of a man who lived on the western coast of Greenland some 4,000
years ago has recently been discovered. Using the DNA in his hair as a basis,
researchers determined that the Greenlander belonged to a Paleo-Eskimo culture
called the Saqqaq, and that the Saqgaq man's closest living relatives were the
Chukchis, people who live at the easternmost tip of Siberia.

Which one of the following best expresses the main conclusion of the argument
above?

(a) Culturally, the Chukchis were Eskimos

(b) DNA is best preserved in hair, where it is sealed in by keratin

(c) There was a migration across the continent from Siberia to Greenland more
than 4,000 years ago

For Complete EBook with Detailed Solution to all the Questions Please Visit
http://lwww.aptitudetests4me.com/Buy_Analytical_Ability_Ebook.html



134
Analytical Ability EBook

(d) 4,000 years ago, the eastern coast of Greenland was probably unpopulated
Answer:

251. The media continually advises people to lower the mortality rate of car
accidents by using seat belts when driving. Moreover, it was the media that made
people aware of the importance of strapping in babies and young children. Most
people today use car seats designed especially to protect the young child, and the
rate of young children who have been killed in car crashes has significantly
dropped. Nonetheless, being strapped in the car with a seat belt can itself pose a
danger, especially in a burning car. Thus, while paradoxically ignoring the media's
advice on how to reduce the risk of being killed in a car crash is bound to decrease
the number of people who lose their lives each year in burning vehicles, it is still
the rule.

Which one of the following best expresses the main conclusion of the above
argument?

(a) The risks involved in driving without a seatbelt outweigh the risks of using a
seat belt

(b) Despite some exceptions, people can reduce the risk to their lives by following
the advice of the media.

(c) The media and not an interested retail group should promote safety measures

(d) Since risks accompany both the use of seat belts and their non-use, drivers
have no choice but to decide for themselves

Answer:

252. Fiona, Georgia, Heather, lan, John, Kilgore and Lumina are forming a line,
trying to get tickets to a concert.

Fiona is standing in front of lan.

John is standing in front of Heather.

If John is not first in line, Lumina is standing somewhere in front of him.

lan is standing immediately in front of or immediately behind Kilgore.
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If Heather, Kilgore and Lumina are the last three, not necessarily in that order,
then which one of the following could be the order of the first four people (from
left to right)?

(a) John, Fiona, Georgia, lan

(b) lan, Georgia, John, Fiona

(c) John, Fiona, lan, Georgia

(d) Fiona, lan, Georgia, John

Answer:

253. Thomas and Sam work every other day (Monday through Saturday).

Thomas and Sam never work together.

Uma, Victor and Winona work twice a week (Monday through Saturday), but
never together.

Thomas and Victor cannot both work on the same day.

Winona never works on Mondays or Fridays.

If Winona works only with Thomas, which one of the following must be true?

(a) Winona is working on Tuesday or Saturday, but not both

(b) Victor is working on Monday and Wednesday

(c) Uma is working on two consecutive days

(d) Thomas is not working on Wednesday

Answer:

254. A chef has to pick four fruits out of the following seven to make a fruit salad:
figs, guavas, honeydews, kiwis, mangos, nectarines and papayas.

Papaya can be selected only if kiwi is selected.

Fig can be selected only if nectarine is selected.
Either mango or nectarine must be selected, but never both.
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Either papaya or honeydew must be selected but never both.
If the salad does not contain honeydew, how many combinations of salad can the
chef prepare?

(a) One

(b) Two

(c) Three

(d) Four

Answer:

255. Summerhill Community College found that, because the current curriculum
has little direct relevance to skills required in order to succeed in the job market,
they have been attracting fewer and fewer new students. So to attract students
to their college, the board proposed a curriculum that emphasizes technology
related to computers. Which of the following, if true, provides the strongest
reason to expect that the proposed curriculum will be successful in attracting
students?

(a) Many technological principles can be applied to computers

(b) Knowledge of technology is becoming increasingly important in understanding
today's world

(c) Equipment that a large producer of computers has donated to the college
could be used in the proposed curriculum

(d) In today's world, the production and application of computers is of major
importance in many places of business

Answer:

256. In the 1980's, myopia was the most common eye problem in Ohio, followed
hyperopia, or farsightedness, and glaucoma, in that order. The incidence for both
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hyperopia and glaucoma increases with age, but the incidence rate for myopia is
the same for people of all ages. The average age of the population of Ohio
residents is expected to increase between 1990 and 2010. Which of the following
conclusions can be most properly drawn about chronic medical conditions in Ohio
from the information given above?

(a) Myopia will be more common than either hyperopia or glaucoma by 2010
(b) Hyperopia will be the most common eye condition in 2010

(c) The average age of people suffering from myopia will increase between 1990
and 2010

(d) Fewer people will suffer from myopia in 2000 than suffered from it in 1980
Answer:

257. A New Mexico farm that grows hothouse tomatoes produces in 10 acres of
space what it takes 20 acres of field area to produce. Expenses, such as electricity,
are high, however, and the tomatoes harvested cost 60 % more than Florida field
tomatoes. Which of the following, if true, best supports a projection that the New
Mexico tomato farm will be profitable?

(a) Once the operators of the facility are experienced, they will be able to cut
operating expenses by about 7%

(b) There is virtually no scope for any further reduction in the cost per pound for
Florida tomatoes

(c) Unlike washed field tomatoes, the hothouse tomatoes are untainted by any
pesticides or herbicides and thus will sell at very high prices to such customers as
health food stores and organic produce outlets

(d) Since tomatoes ship relatively well, the market for the hothouse tomatoes is
not more limited to the New Mexico area than the Florida tomatoes are to Florida

Answer:

For Complete EBook with Detailed Solution to all the Questions Please Visit
http://lwww.aptitudetests4me.com/Buy_Analytical_Ability_Ebook.html



138
Analytical Ability EBook

258. Organic farmers are looking for non-chemical methods to rid their crops of
pests. Giving crops a slight electric shock has no ill effect on crops but rids them of
caterpillars. This method should be employed by organic farmers all over the
country. Which of the following, if true, most strongly supports the view that it
would not be advisable to try to eradicate agricultural pests with the method
mentioned above?

(a) Most species of caterpillar are subject to some natural predators
(b) Many agricultural pests do not go through a caterpillar stage
(c) This method also kills insects that are agriculturally beneficial

(d) Since caterpillars of different species appear at different times of the year,
several shocks would be necessary

Answer:

259. A study of business partnerships in which one partner's management style
differs from that of the other partner reveals that such partnerships are more
likely be fraught with problems and to ultimately end in dissolution. Thus,
mismatched management styles can seriously jeopardize a business partnership.
Which of the following, if true, most seriously weakens the argument above?

(a) Business partnerships in which both partners have the same management
style also occasionally have disagreements that can jeopardize the partnership

(b) The management style of individuals tends to vary from year to year

(c) The individuals who have management style that differ significantly from those
of their partners tend to argue little with spouses at home

(d) Partners who are considering dissolution have been found to express hostility
by adopting a different management styles from that of their partners

Answer:
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260. A bank has four major clients: Bisti, Manu, Lill and Worldum. Manu has the
most employees and Bisti has the least. Worldum is a Spanish company and Lill is
and Indian company.

The company with the least employees has the highest yearly revenue and has its
headquarter in Sharjah. The Spanish company has the lowest yearly revenue but
is the largest growing company.

The Indian company is a sister company of the company with headquarter in
Sharjah. All companies except the company with the lowest yearly revenue is
owned by an Emirati.

Which of the following statement is true?

(a) Bisti is not owned by an Emirati

(b) Lill has its headquarter in Sharjah

(c) Lill is a sister company of Bisti

(d) Worldum has the most employees

Answer:

261. In order to qualify for a specific course, the student must achieve a minimum
80 percent score on the test. The lowest score was 25 percent. Luke had the
second lowest score, it was lower than Judy's, Mark's, John's and Ann's, but his
score was double that of Beth's. And it was only five percent lower than Mark's.
Mark's closest competition is John, his score is 1.5 times as high as Luke's. Ann's
score was 5 higher than John's. Judy had the highest score.

Which of the following must be true?

(a) None will qualify

(b) Only one will qualify

(c) Two will qualify

(d) Three will qualify
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Answer:

262. Fiona, Georgia, Heather, lan, John, Kilgore and Lumina are forming a line,
trying to get tickets to a concert.

Fiona is standing in front of lan.

John is standing in front of Heather.

If John is not first in line, Lumina is standing somewhere in front of him.

lan is standing immediately in front of or immediately behind Kilgore.

If Fiona is first and lan is third, which of the following statements must be true?

(a) Lumina is second in line
(b) Kilgore is not fourth in line
(c) John is not fourth in line
(d) John is fifth in line
Answer:

263. Thomas and Sam work every other day (Monday through Saturday).

Thomas and Sam never work together.

Uma, Victor and Winona work twice a week (Monday through Saturday), but
never together.

Thomas and Victor cannot both work on the same day.

Winona never works on Mondays or Fridays.

If Winona and Thomas are working on Wednesday and Thursday, respectively,
how many possible options are there for the weekly work schedule?

(a) One
(b) Two
(c) Three

(d) Four
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Answer:

264. A chef has to pick four fruits out of the following seven to make a fruit salad:
figs, guavas, honeydews, kiwis, mangos, nectarines and papayas.

Papaya can be selected only if kiwi is selected.

Fig can be selected only if nectarine is selected.

Either mango or nectarine must be selected, but never both.

Either papaya or honeydew must be selected but never both.

Which of the following pairs of fruits would only allow the chef one combination
for the salad?

(a) Mango and kiwi

(b) Nectarine and guava

(c) Kiwi and papaya

(d) Guava and fig

Answer:

265. Excavations on the now uninhabited isle of Kelton reveal a scene typical of
towns decimated by volcanic ash. Archaeologists have hypothesized that the
destruction was due to volcanic activity known to have occurred in the vicinity of
the island in 160 B. C. Which of the following, if true, most strongly supports the

archarologist' hypothesis?

(a) No coins minted after 160 B.C. were found in Kelton, but coins minted before
that year were found in abundance

(b) Pieces of gold and pearl jewelery that are often found in graves dating from
years preceding and following 160 B.C. were also found in several graves on the
island
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(c) Most modern histories of the region mention that several major volcano
erruptions occurred near the island in 160 B.C

(d) Several small jugs carved in styles poplular in the region in the certury
between 200 B.C. and 100 B.C. were found in Kelton

Answer:

266. Many community colleges suffer declining enrollments during periods of
economic recession. At government retraining programs, which are not provided
free of charge, enrollment figures boom during these periods when many people
have less money and there is more competition for jobs. Each of the following, if
true, helps to explain the enrollment increases in government retraining
programs above EXCEPT:explanation

(a) During periods of economic slowdown, government retraining programs are
more likely than community colleges to prepare their students for the jobs that
are still available

(b) During periods of economic prosperity, graduates of government retraining
programs often continue their studies in community colleges

(c) Tuition at most government retraining programs is a fraction of that at
community colleges

(d) Government retraining programs devote more resources than do other
colleges to attracting those students especially affected by economic slowdowns

Answer:

267. Parents of some of the children in a particular class have claimed that the
teacher is not objective and favors his male students with higher grades. But
records have shown that 92% of female students received a passing grade in this
teacher's class. This record demonstrates that the teacher has not discriminated
against women when assigning grades. The argument above is flawed in that it
ignored the possibility that
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(a) a large number of the teacher's student were in his class the previous year

(b) many teachers find it difficult to be objective when assigning grades to male
and female students

(c) the evidence shows that more than 92% of the female students should have
received a passing grade

(d) a large number of female students were not showing up for the teacher's
lessons

Answer:

268. The number of young adults that are illiterate has dropped significantly in a
certain county over the last fifteen years. Education officials attribute this
decrease entirely to improved conditions in the schools, which made for a better
teaching environment, reducing the level of illiteracy. Which of the following, if
true, would most seriously weaken the education officials' explanation for the
lower incidence of the phenomenon?

(a) Many similar improvements in school conditions have been made over the last
twenty-five years in the county

(b) Home-schooling has not been more prevalent among the illiterate as
compared to people who are not illiterate

(c) Because of a new assessment scale, many people who until this year would
have been considered illiterate are now considered low-level readers

(d) The same percentage of the population has been tested every year for the last
30 years

Answer:

269. In many hospitals, more and more monitoring is being carried out by
automated equipment instead of human employees who previously carried out
the work. This is done in an attempt to save hospital expenses. However, many
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employees who lose their jobs to automation will need government assistance to
get by, and the same corporations that are laying people off will eventually pay
for that assistance through increased taxes and unemployment insurance
payments. Which of the following, if true, most strengthens the author's
argument?

(a) Most of the new jobs created by automated equipment pay less than the jobs
that were eliminated by automated equipment did

(b) Many hospitals that have failed to automate have seen their profits decline.

(c) Unemployment insurance and taxes are paid also by corporations that are not
automating

(d) Many workers who have already lost their jobs to automated equipment have
been unable to find new employment

Answer:

270. Besides the manager and owner, Antonio's Pizza is staffed by 15 high school
students who are paid minimum wage. The government passed a statute two
month ago raising minimum wage by 9%. Though this led to a considerable
increase in costs to Antonio's Pizza, profits have increased markedly. Which of the
following, if true, most helps to resolve the apparent paradox?

(a) Over half of Antonio's Pizza's operating costs consist of payroll expenditures;
yet only a small percentage of those expenditu